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LANGUAGE COMPREHENSIVE TEST (9pmiFlevib)

(For Students of Class X)

Time : 90 Minutes Max. Marks : 90
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open

the question booklet.

1. Answers are to be given on OMR answer sheet.

2. There are 90 questions in this test. All are compulsory.

3. This test consists of two sections
Section I - Mental Ability test for 50 marks
Section 11 - Language Comprehensive test (English) for
40 marks.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle with
blue/black ball point pen in the OMR answer sheet.

5. Since the time allotted for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

7. Rough work can be done anywhere in the question
boaoklet but not on the OMR sheet/loose paper.

8. Every correct answer will be awarded one mark.

9. Please return the OMR Answer sheet only to the
invigilator after the test. You can retain the question
Booklets.

10. English version of the question paper will be considered
as final in case of any dispute arising out of variation in
translated version.

11. Quote your seven digit Roll number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING
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MENTAL ABILITY TEST / wengdlpsn Csie

Direction : (Questions 1 to 6) aublupenm : (eSleor sTewT 1 (1PSEV 6 EuewT)

In each question, the numbers/letters SpSsTEID eeréaefley stewmaen / ‘
are arranged based on some pattern or SIpSBIHSHT Q@ GDILLIIL el Sluflerig. ;
principle. Choose the correct answer for the aflensliu@ssiulOerener. Gaerells |
term marked by the symbol (?) : @ (?) @ uul_@erer L sdnE

sAwren efeoenw CaiHolsHSHLD. ’
1 58132347 1. 581321342 |
13 2) 21 1) 13 @ 21 ‘
3) 55 4) 8 (3) 55 @) 8 |
T oy L e R R, e \
e $ 1 o e T R T
=7 @ -36 [y =y @) -36
3) -9 4 -6 @) -9 @ -6
i LR R 3 F 25907 06,7

1) 29 @) 31 1) 29 2 31

(3) 33 @) 37 0.4 53 @ 37
1., 26,12 20, 50,7 4. 2. 6,12, 20,307

1) 36 (2) 38 1 36 2) 38

@) 40 @ 42 (3) 40 4) 42
5. AMS3, DJ5, GG7, ? 5. AMS3, DJ5, GG7, ?

(1) JD11 (2) 1D9 (1) D11 2) 1D9

3) JE11 4) JC9 (3) JEI1 @) JC9
6. aBc, deF, Ghi, K1, ? 6. aBc, deF, Ghi, jKI, ?

(1) MnO 2) nMO (1) MnO () nMO

(3) mnO (4) mno (3) mnO (4) mno

3
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10.

11.

12,
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If the word 'EFFECT’ is coded as
DEEDBS, then the code RSTCX stands for
the word :

(1) STUDY (2)
(3) SPEED (4)

SEEDS
FACTS

Identify the missing sequence of letters :
FINE, ]MRI, NQVN, ?

(1) SVYS (2)
(3) QTWQ (4)

RUZR
PTVP

What number should replace the question

mark ?

125] [ 216] | 383 il
(1 512 (2) 454
(3 729 (4) 464

Which one of the following words can

be formed using the letters of
‘CONFIDENT" ?

(1) CODES (2) FINER

(3) NOTICE 4) TENANT

From the four alternatives, only one differs
from the remaining three. Identify it :

Cricket
Carrom

(1) Hockey (2)
(3) Foot ball (4)

From the four alternatives, only one differs
from the remaining three. Identify it :

(1) Teacher (2)
(3) Dwiver 4)

Lawyer
Robber

10.

11.

12.

www.Padasalai.Net

'EFFECT’ erenm G@eréwepew DEEDBS
erab @MU HseTTed Ghssmre, RSTCX
sranpé GHUSH smD GlETe

(1) STUDY (2) SEEDS

(3) SPEED (4) FACTS

\Slesau(mid Qgrfe FINE, JMRI, NQVN
<(H5581S QU(HeL!"?

(1) SVYS (2)
(3) QTWQ (4)

RUZR
PTVP

7 cand GOELL QLEdS Byl

GramT Wngl?

125) | 216 | 343
1) 512 (2) 454
(3) 729 (4) 464

{CONEIDENT’ erenm @gmeesigierer
e erpsgEsmans Camam( o (HeUTS
sUUBD Gere () g @ (G GoT6u ) [l 6T

Tgl?
(1) CODES (2) FINER
(3) NOTICE (4) TENANT

Qsr@asiul@der prard W THMm
eflenLsafle e ol Hb
S 6uH Bl 6l (B HS! wrpuGEns.
DS SeTL_DIS.

(1) Hockey (2)
(3) Foot ball ()

Cricket
Carrom

Qsr@asiulfarar Bred T Hml
cllenLsafle Qemm wl (Wb
QpapPai@ps  wroUGEADS.
Sigomas TS,

(1) Teacher (2)
(3) Driver (4)

Lawyer
Robber




www.Padasalai.Net

16.

13.

14.

15.

Out of four pairs, only one pair is different  13.

from the other three. Find it :

(1) Author : Pen

(2) Doctor : Stethoscope
(3) Gardener : Garden
(4) Soldier : Gun

Out of four pairs, only one pair is different  14.

from the other three. Find it:

(1) Oil: Liquid
(2) Wall : Bricks
(3) Shoes : Leather
(4)  Furniture : Wood

A is B’s sister. C is B's mother.

father. E is D’'s mother. How is A related
cajl Bl

(1) Daughter

(2) Grand daughter
(3) Grand mother
(4) Grand son

If A stands for +, B stands for —, Cstands  16.

for x and D stands for +, then:

64B28D7A5C12 =
(1) 120 (2) 60
{4l (% 4 0

www. TrbTnpsc.com

DisCs 15.

[coDE] X [ 1 [13 ]

Qar@m&asriul_erer prear@ Camig -
safled @arm WLHL WLOHD gpeTm
Gamg safledl(mEsl wrouGEng.

SUGEEEH STEHTS.
(1) Author : Pen
(2) Doctor : Stethoscope
3

(4) Soldier : Gun

Gardener : Garden

—

QarHésiiul_Harer preE Gamg sefld
e LLEL  wHP P
Camigaafled(mbg wrpu®hSmg.
SAFDATE ST,

(1) Oil:Liquid
(2) Wall: Bricks
(3) Shoes : Leather

(4) Furniture : Wood

A ecramuiali B -at eCarsifl, C gpenaum B
-ar gmi, C -an ghang D. D -e gl E.
D -&@ A 6ThS 2067

(1) w&er

@ Guss
(3) uriig
4) Gumyen

+ & A erama|id, — &3 B eranayd, x g C
eramayd, + & D eramayid GHlSSmed
64B28D7A5C12=

1) 120 2) 60

@) 4 @ o
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17. If the symbols x and + are interchanged
and numbers 4 and 2 are interchanged
then :
6+4x2=
(1) 12 2] 16
3 14 4) 20

18. 1f 4 * 3=6427 ; 1* 7=1343 ; 2 * 5=28125,
then 3 * 6="7
(1) 12726 (2) 27125
(3) 27216 4) 21627

Direction : (Questions 19 to 20) :

Some symbols indicating some relations are

given below :

A = greater than

@ = not greater than
0 =equal to

@ = not equal to

® = less than

{1=not less than

19. a@® b 0 c implies that :
(1) aCctb (2) b®alc
(3) cUb®a (4) a@bOc
20. aAb A cdoes not imply that :
(1) b®&aldc @) bAadc
3) c@bWa (4) c®b®a

www.Padasalai.Net

17. x LHMD + swer @aTN&ECsTE
@ wrpflub 4 wHmd 2 -

ahan eansQararm @LwrD

mlaTrey:
6+4x2=
My 43 @ 16
(3) 14 @) 20
18. 4*3=6427;1* 7=1343 ; 2 * 5=8125,
crans GHESTE. 3 * 6 -6 WHUIL:
(1) 12726 @) 27125
(3) 27216 @) 21627

auiflwenm (eSlewm sTevst 19 (LpGHev 20 euewy)

Wereumw  GHEGSEHRSE
Qsriysen &G griuL (Reneres.

o Mw

A =greater than

@©= not greater than
6 = equal to

@ = not equal to
®= less than

0 = not less than

19. Qar@&suul L GHllGsmar Lwen

LUES5 a ® b 6 c arganad GHISEGD?
(1) aOcHb (2) b®alc
(3) cOb®a 4 a@blc
20. aAbAc g @S GOSHTE?
(1) b®aAc (2) bAafbc
(3) c®bBa 4 cob®a




persons,

question.

Direction : (Questions 21 to 23) :

In the following diagram, the triangle
represents graduates, the square represents
women and the circle represents unemployed

Choose the correct answer for each

(1)

()

(1)

)

www. TrbTnpsc.com

is represent by :

¢

D

22. Women who are neither unemployed nor

graduates are represented by :

A
(

23. Unemployed who are either women or
graduates are represented by :

Band C
Band D
Aand B

Aand D

www.Padasalai.Net
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aulfl(peom : (elesrn eTemT 21 (LPpH6Y 23
auemT)

Qaraumbd ULsHe WwsGsTam b
Ul Lgrilsememuyb, s GUeT- e,
ol Lib GCeumaulleergelm- &emerub
Ehlsdaman.

21. Women graduates who are not employed 21. Cauemaulders ulrgrfl G uewr-

seerd GHLUS:
8 e o @ ¥
3) D 4 B

22, wlgril @éers womb GCeumeudd
2 eem QuesTganand GOlILILIS!:

1) A (2 D
@) C ) B

23. Queawmser D F UL grflser
24, @TITED Ceuemauieerseienyd
Gmlluer:

(1) B wpmid C
(2) B wHmib D
(3) A whHmibd B
(4) A wpm D

& |

|
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24. Identify the missing number : ' 24. NEULL GTewT Smens:
24 12 24 12
4 29 |3 10 ? 5 4 29 |3 10 ? 5
12 42 2 42
(1) 37 2 27 (1) 37 Gy 27
(@) 39 (4) 36 (3) 39 @) 36

25. Three pillars P, Q, R are constructed ina 25, clemerur_(Hg Huedled P, Q, R <2l

ground. If Qis 300 m castward of P and if PLpEITM) &[TaHT B 6T o arerar. P-&( eﬂgg&@
R is exactly at north of P and if the distance ngu_fﬂgb 300 8. Glg;rrmeua‘.ﬂei) Qayd, R
between R and Q is 500 m, then the <yang) P-5@ sRlwrs suLSens- ulgyib
distance between P and R is : o gremar. R wpmib Q -&@hé Sl G

2 drer QgTeee 500 . erafled P
wpmb R -s@psdeol ULLS
Qzrenavalleners &ranrs.
(1) 200 m (2) 100m (1) 200 8 (2) 100 8
(3) 250 m (4) 400 m (3) 250 8 (4) 400 8

26. Identify the missing number in the second  26. ? erané eNUlL QLédle Qnss

figure : GeuenTigul eresr WTg)?
B B 3 5] B 5]
(2 [30] 2] [5[2] 7] [6]60] 4 | M2 30 2] [5 [21 7] (6 ]e0] 4 |
4] L b ] i .
(1) 50 (2 23 1) 50 2) 23
(3) el 4) 71 (3) 61 4 71
27. Find the missing number : 27. GNHULL GramenanTd Sres.

AbhYARYAR N ARYARYAD
\ |0/ \»[n/ o]/ s/ \»|n)\s |2/
1 3 2 6

1 3 2 6
@ 12 4) 27 3 12 @) 27

www. TrbTnpsc.com
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28. Find the missing number : 28. GH(HULL GTOTENEE &TaTE.
|
QeQ) OQ ®
& ’ 12 (© @ @2
1) 4 2) 14 (1) 4 ?) 14
@) 7 M B @) 7 4 5

29. The next figure in the following sequence  29. Uéreumeuameupdng ADSSHTEH

of figures : QU@L LILSSlenens Smes.
00000 | [CO00 i oo || COCO0| [0000 | {000 ]l
| g & ? |

. | |o® ‘ ed J @ o® s ‘l

o0 [oo0 Q0 000
(1) (2) (1) | (2)

L) cses _esse seen

o0 o CO 0
) | (4 ®3) (4)

eee ‘eoee see ssee

30. The next figure in the following sequence  30. “amaumeauameupdnG SHSS5STE
of figures : QUHL UL SEenand STams.

OO BUO:
@) @) O e
© -0 -O «[C

(3) (4)

www. TrbTnpsc.com
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31. Identify the missing figure : 31, AHULL LILSMSE SHTETS.

[ |

32. Identify the missing figure : 32, AU ULH®SE SIS,

L) el

33. Identify the figure from the four 33. 2 @Al @LgHle> au(mHd UL Se05S
alternatives given below to fit the SITEHTS.

pattern :

; ] XA

- a X m < @) ><

10
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34,

Identify the figure from the four
alternatives given below to fit the

pattern :

A

M @ @ @
G) @ (4) O

Identify the figure from the four

>
P

*
Vi
N

alternatives given below to fit the

pattern :

/JWIVY] « |

£3:2%

)

www. TrbTnpsc.com

34.

35,

1%
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? GO L QLSS eumd UL S®SS

T EH0T .

ALAIQ]

? AL @86 aumbd LLSmSE

SIS,

VW -

—_
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37.

[CODE[ X | [13 |
36. ldentify the figure from the four 36.

alternatives given below to fit the

pattern :

D M X
Kéw/
/<

Which one will complete the diagram ? 37.

@) (4)

www.Padasalai.Net

uLmisafle elGHuii
UL $605S FHTET .

DO M X
XA/
X &

1Yl 606U (HLD

@

Gemaumd ULSMS (PP OLITES
ereamants LwearuBSs Ceuar(Hin?

(1) 2

@) S




38. The mirror image of the word HOSPITAL
15 ¢
(1) LALI920H
(2) JATI920H
(3) HORYITAJ
(4) LATI920H

39. Three different positions of a dice are given
below. Find the number on the face

opposite the face showing 3 ?

B

@ 2 4) 6

Direction : Read carefully the information
given below and answer the questions
40to 44 :

There are five persons A, B, C, D and E. One is
Pilot, One is Sailor and One is Director. A and
D are unmarried ladies and unemployed. None
of the ladies is either Pilot or Sailor, There is a
married couple in which E is the husband. B is
brother of C. B is neither Sailor nor Director.

40. Who is the Pilot ?
1 C (2) E
{3) B 4 D

www. TrbTnpsc.com
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38. HOSPITAL GT &M Q& el en

sawenTmiguiled GuUHLD SlbLILD:
(1) LALIM20H

2)  JATI920H
(3) HO249ITA.I

(4) LATII20H

39. uswL gerdlar QeucuCouy Hlaaser
ECssriuLl (Herare. eLp 6or )
cramanili il usssHen i LGS
GTeBT WITE)?

i
Q1 ) 5
= 4) 6

auflpevm ECp Car@asrirL
S5616MmE0S HeUEILONGL Lig &gl eSler cieusm
40 (1p360 4 aueny efleniweflaasa .

A, B, C, D, E =pdlw gbg puUiseT o eraren.
gmel elwreafl, @upeit suu® LI,
@meuli @us@enT, Quemser A wHmWw D
S ACWTTT HHLETD B ETSEUITEET LHHID
Caumalies Goarsaursd. duarsafo
@ (meui MwrelCur ey
wrgylCuirm SD@®. & (15 Lo 6o -
wraauiseaile E gseamreufl peuri. C -a
sGarTHIT B Speuni. B eramuieur Quis@ent
Seag wralursGer Gloama.

Sl

40. oflomefl wimi?
€ 2 E
@) B 4 D

|
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41. Who is the wife of E? 41. E - wenanell wimi?
1 C @ D [y € ) D
3) A @ B @ A @ B

42. Who is the Sailor ? 42. wresl wrr?
1 C 2) B B E 2) B
@ D 4) E @) D 4) E

43. Who is the director ? 43. Qud@eri wri?
1 B @ c o B @ c
@ E 4 A @ E 4 A

44. The three ladies are ? 44. ppany GueTser:
(1) A B,D @) AED (1) A BD 2) AED
(3) ACD @ ABC @ A/GCD TIREE ;

45. Which one of the following pairs is 45. 19emeuHeuaneubpieaT e wpn GCamig.-
different from other three pairs ? saflelmbg CeumuBng?
(1) ABCD : DCBA (1) ABCD : DCBA
(2) 1234 : 4321 2) 1234 : 4321
(3) AB12:21BA (3) ABI2: 21BA

| ) WXYZ: ZXYW 4) WXYZ : ZXYW

46. Choose the odd one : 46. oMMULL QRETEMDE SIS
(1) Metre (2) Furlong (1) Metre (2) Furlong
{3y Acre. - (4) Mile (3) Acre (4) Mile

14
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47.

48.

49,

Choose the odd one : 47.

(1) Broad : Wide
(2) Light: Heavy
(3) Large: Big
(4) Tiny : Small

Choose the missing word : 48.

Pigeon : Peace : White Flag : ?
(1) Fight (2) Victory
(3) Defeat (4) Surrender

Find the missing

following :

3 2 3

6 1

4 36 8

72 72 72
1 ¢ 2 1
@ 9 4) 3

A, B, C, D, E, F, G, H are sitting around a 50.

round table in same order at equal
distance. Their position are clockwise. If
G sits in the north, then D is in the direction
of :

(1) South - West
(2) South

(3) North - West
(4) South - East

www. TrbTnpsc.com

number in the 49.
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CS@JQJuL;L_.emg)é; 5T eI S:

(1) Broad : Wide
2

~

( Light : Heavy
(3) Large: Big
(4) Tiny : Small

UL Qeranans Sres.
Pigeon : Peace : White Flag : ?

(1) Fight (2)
(3) Defeat (4)

Victory

Surrender

eNHUL L GTEHRTENERTE HTEHTs.

3

6 1

4 36 8

72 72 72
1 4 @ 1
@) 9 4 3

A, B,C D, EF G H fCurrT euL
GueamsmwF sHH @EHeIHES @HeUT
s Qreveeied SjLTHFETETET.
sauirsdar 2Gg afl@slad sig-
STTAPET HH@MHD Smsulier B
geterant. el &@ Sosdd G
Gmpsrad D @@HeEh Seavs wrg?
(1) QaaCudHE

@ G566

B) euLGune

(4) Opadpse
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LANGUAGE COMPREHENSIVE TEST (ENGLISH) / Quomflg Gsiey (prudlevid)

Direction : (Questions 51 to 55} : Read the 51. What does Johnson say is helpful about

: e ; 5
passage and answer the questions that looking at objects in the distance !

follow : (1) Children can do their homework

better on the computers
According to Kate Johnson, children are (2) It would have a beneficial effect on

ending up spending more, time inside the house children’s eyesight

doing homework on computers, and playing (3) Playing video games would be more

video games, and less time on outdoor activities. fun

This is taking a toll on children’s eyes. Kate, an (4) It would improve their balance
problems

optometrist who lives in Brisbane, says that
children as young as six now need glasses. In

her view, these children are sporting glasses due 52. What does the term ‘as young as six’

o . ?
to their indoor lifestyle. The occurrences are T

more in children with no family history of (1) Six young children played sports

myopia. They spend so much more time in close with glasses

work with computers and reading doing the (2) Six children have changed their

damage. Her recommendation is that children lifestyle and wear glasses

need to be encouraged to run outdoors and look (3) At the young age of six children are

; ; ; wearing glasses
more at objects in the distance for better eye- &8

health. Parents have to enforce a balance in the (4) The optometrist has six young

. ; children who wear glasses
time spent indoors,

|
Research findings of Kara Schmidt, 53. What does the phrase ‘taking a toll” mean ?

Associate Professor, are that it is not simply Choose the answer that most closely fits |

g ; ; ing ?
looking into the distance that prevents myopia, thi mBaTng |

but actually being outside in the sunlight. (1) Taking a fee for spending time‘

Sunlight helps in the release of high amounts of indoors

: : :
retinal transmitters. One of these is dopamine (2) Takinganap in the afternoon would)]

hel
which prevents the eye elongation that is caused F

by spending long periods doing intense mear’ (3) Causing damage to their eyesight

v, (4) Causing them to lose in the video

games

16




54. What does the passage recommmend for

young children ?

(1)  Children should spend more time
outdoors playing in the sunshine

(2) Children should spend more time
indoors doing their homework

(3) More children should begin wearing
glasses at the age of six

(4) Children should learn how to

balance themselves on the see-saw

n
n

What is the reason for children’s eyes are
being damaged ?
the

(1) Doing home work near

computers

(2) Playing video games inside the house

(3) Spending time reading indoors
(4) Spending more time working closely
with computers

Direction : (Questions 56 to 60) :

Read the following passage and answer the
questions that follow :

The stomach is another path to a better
brain. Ttis common knowledge that antioxidants
fight cancer. Foods that contain these molecules,
when consumed, neutralize harmful free
radicals, which are good for your brain too. Free
radicals are necessary to break down the
neurons in our brains. They do not have
anything to do with politics ! Fruits and
vegetables that are colourful are packed with
antioxidants. So also are some spices, nuts

beans, and whole grains.

www. TrbTnpsc.com
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It is overall nutrition that is most important.
In tandem with a good workout routine, it is
necessary to eat right foods to avoid the diseases
that modern flesh is prone to. High cholesterol,
diabetes, high blood pressure, and obesity make
life difficult for your brian.

If your diet is heavy, then you're probably
also heavy. The weight that burdens your legs,
especially on the stairs, also burdens your brain.
According to Carol Greenwood, a scientist who
does geriatric research at the University of
Toronto, the best things for your body are also
the best for your brain, After all, your brain is
in your body, isn't it ?

56. Eating foods with antioxidants is good for

the brain means that :

(1) Foods with free radicals are good for
the brain

(2) Neutralizing free radicals would be
a good idea

(3) Highblood pressure and diabetes are
not modern flesh diseases

(4) The stairs are burdened even if you

are not heavy

57. Which of the following statements
indicates that overall nutrition is
important for the activity of the brain ?
(1) Political free radicals cause break
downs

(2) Eating colourful foods is not as good
as eating nuts and grains

(3) Eating right is important to avoid
modern diseases

(4) A witty reply is not possible if you
are heavy
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58.

Identify which word can replace

‘neutralize’ in the first paragraph :

(1)

(4)

59.

Support

Maintain

Brace

Negate

Geriatric research scientist would not be

working with :

(1)

2

3)

60.

Conditions that occur in teenagers

Retired pensioner’s diseases

Old people’s case studies

Data on the aged

Ms. Greenwood’s general recommendation

for a healthy brain is :

(1)

www. TrbTnpsc.com

Healthy legs

Healthy diets

Strong staircases

Healthy wit
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Direction : (Questions 61 to 64) :

Each of the following questions contains four

sentences followed by four suggested

arrangements. Choose the best arrangement

that puts the sentences in logical sequence.

61. (a)

(b)

(d)

62. (a)

(b)

(©)

18

The life time of the man who wrote
Hamlet, Macbeth and King Lear
corresponded with the reign of
Queen Elizabeth -1 of England.
There are several stories about their
friendship.

Considered by many as the greatest
dramatist in English, William
Shakespeare lived from 1564 to
1616.

The queen and the dramatist were
great admirers of each other.

(1) cabd
(2) cadb
(3) acbd
(4) acdb

Even after a year of its publication it
continues to claim victims.

It sent a Union Minister and two
political party chiefs campering for
cover.

The Tehelka
corruption in public life created a

tapes alleging
storm in Delhi.

It's latest Victim is the Chairman of
the inquiry commission.

(1) cbda
(2) cbad
(3) abecd
(4) cabd
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63.

64.

(b)

()

(d)

‘Profit’ was considered a bad word

and business was looked down upon.

There was high sense of nationalism
and politicians were held in high

esteem.

In the first few decades of post -
independence India, politics and
politicians stole the limelight.

But all this changed with the advent

of liberalisation.

(1) cabd
2) bcad
(3) cbad
(4) bacd

Every country spends a substantial
part of its revenue on protecting its
freedom from an external aggression

and internal strifes.

Freedom, to any country, comes at a

price.

External vigilance, they say, is the
price of freedom.

If only the nations of the world
learnt to live together in peace we
could have saved large amounts,

now spent on defence, for better

purposes.
(I) bdca
(2) cbad
(3) adbc
4) bcad

www. TrbTnpsc.com
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Direction : (Questions 65 to 70) :

Choose the most appropriate one-word
substitute from the options given below :

65. One who is fond of sensuous pleasures :
(1) Epicure
(2) Pedantic
(3) Connoisseur
(4) Sensualist

66. One who speaks less :
(1) Munificent
(2) Reticent
(3) Transcient

“(4) Loquacious

67. One who always thinks himself to be ill :
(1) Psychosomatic
(2) Hypochondriac
(3) Psychiatric
(4) Valetudinarian

68. One who dies without a will :
(1) Destitute
(2) Anonymous
(3) Intestate
(4) Unanimous

19
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69. A soldier who fights for any country or
group that is willing to pay him :

(1) Maverick
(2) Mercenary
(3) Musketeer

(4) Masochist

70. A very unimportant person in an

organization who is very much servile to

others.

(1) Minion
(2) Pillion
(3) Orderly

(4) Misnomer

Direction : (Questions 71 to 75) :

Fill out the blanks by choosing the appropriate

option given below :

We do not know what to do with
our (71) . Science has given us (72)
powers, which we do not use (73) | . .For
example, we are unable to manage our
machines. Machines should be fed _ (74) _and
waited upon ___(75) . Otherwise, they refuse

to work or cause destruction.
71. (1) wealth
" (2 might

(3) wisdom

(4) knowledge

www. TrbTnpsc.com
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73

74.

75,

1)
(2)
()
(4)

extraordinary
ulterior
superhuman

robust

exactly
effectively

adroitly

properly

timely
promptly
intermittently

casually

reasonably
attentively
regularly

variably

Direction : (Questions 76 to 80) :

Select the meaning of the given phrases/

idioms :

76. givesin:
(1) get
(2) accept
(3) surrender
(4) receive



Y7. geton;
(1) receive
(2) manage
(3) accept

(4) relieve

78. keepup:

(1) maintain

(2) store
(3) putup

(4) givein

79. fall ot ¢
(1) balance

(2) quarrel

(3) relinquish

(4) resist

80. hold back:
(1) stop
(2) proceed

(3) hesitate

(4) reinstate

www. TrbTnpsc.com
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Direction : (Questions 81 to 83) :

Select the most appropriate synonym of the
word given below :

81. The acrimony of his speech shocked his
friends.

(1) Dboldness
(2) Dbitterness
(3) goodness

(4) Dbrevity

82. Rachel is caught in the web of her own
delusion.

(1) misunderstanding
(2) confusion
(3) conclusion

(4) domination

83. Becky is a voracious reader.
(1) intelligent
(2) indifferent
(3) quenchable

(4) insatiable

21
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177. GDP-Depreciation 1s ; 177

Qurss 2 GTpTL(H o HuGSH - G-

rend QFwa] =

(1) Pd (1) T QU(THLDTETILD
(2) NDP 2 a7 2 eTBI_(H 2 HUSS
(3) NNP @) Bar s =Huss
(4) NIP (4) gen@UiLTé QareTens
178. Per capita income is obtained by dividing  178. geom @D Terld erenUgl LGy
National Income by ; QUHLIESE®S - 260
auEEss o Lus
(1) Depreciation (1 G LD TEnD
(2) Population (2) D&SET QsTens
(3) Savings 3) Gslliy
(4) Investment 4) s
179. Non-intervention of government in 179. ST& QUIHETTETTE Qsrarenssafla
cconomic activities 18 termed as FHULTE DBUUS D GID.
(1) Privatization (1) saiwrt LOWIOTSHED
(2) Liberalization ) g;rrr,rrrerrmmmrrg;é)
(3) Laissez-faire 3) g;em@)uﬁ\LWE QareaTens
(4) Double counting 4) @D SaTHHHED
180. Primary sector consists SO s TR s S eremug
(1) Trade (1) euanfisd
(2) Construction (2) sU_LenolLs S
(3) Agriculture (3) CeueTraantng Hievn
4) Telecommunication (4) QsTenad Qgriiub geoD
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This question paper is for

Part Il - Scholastic Aptitude Test.
Time allotted to answer the
questions in this part (91 to 180) is
90 minutes. Marks to this part is 90.

Answers to this part to be shaded
in the appropriate box in the
“Part-ll Scholastic Aptitude Test”
portion of the answer sheet in
which answers for part-l have been
shaded, using Blue/Black ball point
pen.

Write your Roll Number (Centre
Code No. and SI.No.) very clearly in
the question booklet (Only one
digit in one box) as given in your
admission card

For example, a student appearing
from Centre Code No. 0102 with
SI.No. 006 will have to write the
Roll No. as follows.

Roll No.
Centre Code No. Sl.No
0[1/02 ] 0/o|6
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Other Instructions

Read Carefully

. Write only candidates Name and

Roll.No. in the space provided in the
Answer Sheet and affix your
signature.

. All questions are compulsory.

Since the time allotted to answer is
very limited, you should make the
best use of it, by not spending too
much time on any one question.

. Choose the correct answer from

the options given for each
question and shade the
corresponding box with blue /
black ball point pen, in the answer
sheet.

_ In the Answer Sheet if you shade

more than one answer humber or
if you overwrite or delete the

answer number, no mark shall be
awarded to that answer.

. Two blank sheets have been

provided at the end of the question
booklet. Use it for rough work.
Answers on these pages will not
be considered for Valuation.

any, quote your Roli No.
(Centre Code No. and Serial No.)
without all.

i O icimaser :90/Marks: 90

This booklet coniains qussiions as given below:

um_sussit / Subjects

1 &=figih / Mathematics
2. gyfiafhue / Science

3. sepe gyflefus / Social Science

aflewm eretoraeir /Q.No.s

(pime DIy
g1 110
i1 145
148 180
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92.

93.

9.
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safigin /| MATHEMATICS
EPSSTEYID S DEISHTIS 6T Soupmeors) ? 91. Which of the following statement is
() D@ Quwsb srevwrasafisir 5. BB G incorrect
@hwuisd sreter. (1) Sum of two natural number is a
2 @ sﬁ\ﬂgw srsoraaflsir Sn (HG60 natural number,
S sNESpoT sTev. (2) Sum of two rational numbers is a
(3) Bm B asmsaflsir SHS50 @ rational number.
B srerew St @mEG. (3) Difference between two natural
(@) B NHsapm sresefisr sifiss numbers is always a natural
S0 NBHnm evevir. number.
(4) Difference between two rational
number is a rational number.
Quimsssiisd Crinomy @lsdsurg srevr. 92.  Which of the following has no
multiplicative inverse?
1 1
(1 -5 (2 - 1 -5 ) g
®3) 0 @1 3)0 @1
o Sfsyp ronsErs@ @oiule 93, The number of rational numbers
2_sirem s wm sTevTaeifisir between any two rational numbers is
sretirsmufl& emes.
(12 (2)0 (1) 2 (2)0
33 (4) DaUOfu srersnlidme 3)3 (4) Very large
at=(4)" ereflsr a = 94. Ifa®=@4)*thena=
(H2 -2 1)2 (2)-2
(3)4 416 3)4 )16
1434547+ ... +99= 95, 1434547+ uvnes +99=
(1) 50° SR i (1) 50° () 51°
(3)49° (4) 100? (3) 497 (4) 100°
86 Heos Cuoibustranflsir ariés epod  96.  The square root of a real number is

255 oowefemar ol Qufiugrs

SIEDUGEST Db eTeveT
() 5 epars oag suns Bamsetn
gi—égmlmm' T
1
@) +ap Qufisrs Bnsei.

388 /16=3=-la
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greater than that number then the
given number is

(1) less than or equal to 1

(2) less than 1

(3)equalto 1

(4) greater than 1
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97.

98.

99,

100.

101.

102.

19* ersirugstr aflflauréasHed 1-1b 97.
Bk sy Pabsi

108 2) 6

3)9 @1

(% + 2 )@ SppsTaITs GETSTL. ST -
oL &Csremn)  u@SUsT el e

S0
M1
@2

Spésramid s Hisaflsh a5 aiprarg ? 99.
(1) @Gaur W&GaTsmT (b S LI
CamemmomSid.
(2) guQaur(, sUUSS (PECaTamTL B
RIS LNGETSITLOTSLD.
(3) peuGlaur(y Clesinuspd G@b L&
GamemuTLM(SLD.
(4) @G smisgYd 8G FUHS
usy Caremmam@LiD.

@r
44

@ uLworerg STl iugd, e 100

sgInGHer G Iemobgiererg  Gums
e srongl. ooy ewL e el
FHITSHST LbSHSGIL 6T afliurs
QurphgiLomm! 2 6T g, Sjeor
o' L Cg@ufsir symb r steoflsd L geSledr
apeTey.

(1) mr + 6r
(3) nir + 4r

(2) 7r + 8r
(4) mr + 3r

Spsargpn s GsTely @G 10L

yaGarampHer ussHEITES @HES
Buweorg; ?
15,5,3
3)2,3,6

(2)3,4,5
5,57

S FHSTSSmET T GDHS T 102.

Coemeu

(1) 3 udasrissr, G epsnaailL L
(2 3 usatissT, @ Camemnd

(3) 4 ubsRISHT

@) 4 useitissT, @ Gamemm.

388 /ll6~ 4
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The digit in the unit place of 12 is

(1)8
@3) 9

(2)6
@1

The radius of a circle whose quadrant
perimeter is ( % +2),is

1 @r
(3)2 44

Which of the following statement is

incorrect.

(1) Any triangle is a polygon

(2) An equiiateral triangle is regular
polygon.

(3) A rectangle is a polygon.

(4) A rhombus is a regular polygon.

In a figure, a Square is surmounted by
a semicircle, if the radius of the semi
circle is r then the perimeter of the
figure is

(1) mor + 6r
(3) nr + 4r

(2) r + 8r
(4) nr +3r

Which of the following sets of sides will
not form a triangle?

1)5,5,5
3)2,3,6

(2)3,4,5
45,5,7

Which of the following is essential to
draw a quadrilateral?

(1) Three sides and one diagonal

{2) Three sides and one angle

(3) four sides

(4) four sides and one angie,
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103. dysmerusnsuseafist g FooIiY Carmea

SJ6060.
) i+3 @) x+2
@)x-7 ) 2x—1

104. @\ lsms srsvraatien anBFHeD Zjg6ir
Gumésgud swmiflsr gsiefl sraorss

M1,4
(3)4,4

2)3,3
42,2

105. BpssrearLienasueiisd 6TE swsirun®)
i ?
(1) (a + b)* = a’ + b* + 2ah
(2) (a—b)*=a’+b*- 2ab
B)(a+b)(a-b)=2a’ -k’
@@+b)(a+tb)=5

106. 13" =169 sreflsh x =

12 2)13
3)3 #1

107. (9 +(.1)*+2(.09) =
1.1 2).9
3)2 @1

108. (X* +6x+9)=(x+3) (x—a) eTeelled a
STEETLIG
1) -3 (2)3
32 ) -2

109. (ax’+bx+c)=(x-4)(2x+5)
sreufisd b =
1) -3 ?)3
37 4) -8

0. 1_ 4 sreirusie (x @ QuiiGusin
X
() 8@ Siey 2w
(2) Sirey HewL1wimg;
(3) 2 Srreyser 2_svoT(Hl
@) s|sursr Siayser 2 s (b

388 /116-5-2
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103.

104.

105.

106.

107.

108.

109.

110.

Which of the following is not a
binomial?

mL1es
X
Gyx =7

2)yx+2
4)2x -1

The sum and the product of two

positive numbers are same. The
numbers are.

(11,4 2)3,3

34,4 4)2,2

Which of tie following is an equation?
(1) (a + b)’ = a® + b + 2ab

(2) (a-b)*=a’+b*- 2ab
B3)(a+b)(a-b)=a’-b?

@) (a+b)(a+b)=5

13* =169 then x =

(12 (2) 13

33 @1

The value of (.9)’ + (. 1) + 2(. 09) =
1.1 2.9

(3)2 @1
(x2+6x+9)=(x+3)(x—a)thenais
-3 (2)3

32 4 -2

If (ax’ + bx +¢) = (x-4)(2x + 5)

thenb =
(1)=3 2)3
) 4)-8

Sl 0 has (x is a real number)
X

(1) one selution

(2) two solution

(3) 2 solution

(4) more number of solutions.
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Iflafiwsy — SCIENCE
111.  aflwrer Qu@pSSio 111. The Correct match of the following is
[ﬁ_ﬁj:iu_rm_s?r—nmmh :issm'_' Type of irrigation Example
i) Cpbe - A) Oped auwed i) Furrow - A) Paddy
Britiuresmin irrigation field
i) &meaumi - B) &y ii) Basin - B) Sugarcane
) irrigation
i) Ggefliy - C) &miems iii) Sprinkler - C) Grapes
Briuresmd irrigation
iv) Qem@® - D) ysseor iv) Drip - D) Lawn
BitiuTssmd irrigation
@i-¢, ii-B, iii-D, iv-A ®Hi-C, ii-B, ii-D, iv-A
)i-A, ii-B, iii-D, iv—C @)i-A, ii-B, ii-D, iv-C
Gi-BH-A, Si-D, iv—-C (3)i-B, ii-A, ﬁi—D, iv-C
4)i-B, ii-C, = iii-A, iv-D 4i-B, ii—-C, iii-A, iv-D
112, LW umEs STaNThSEHSES ThSgSEsm B 112. An example for leguminous planet is
(1) L Lmemf] (2) Gpsd (1) Pea (2) Paddy
(3) Camgyemin (4) Gemsma (3) Wheat (4) Maize
113. 80 '-“Wﬂﬁgléi_@ Wﬁéf] QmmiGLomssr 113. In adults, excess secretion of growth
S|ELOTE ST (ELOMEITED @ GTL_TEUG. hormone leads to a condition called
o @s'r.rsrrgisgsirmm @ mntr'réfsmg LomDLD (1) Dwarfism (2) Metabolism
) @&Cmewansd  (4) smir (3) Agromegaly  (4) Goitre
114. gLll*‘li‘15‘l"ﬂ'l—"-lﬂ)lﬂﬂl Seupmer au.mmj 114. The incorrect statement with respect to
(] Lsemasst ghemy Qfsusurrm SyETEmEL fungi is
SNNG] Pm@ms:mm‘%ma?m. . (1) May be unicellular or multi cellular
(2) @eupyilsd uFsmEID 2 STaTHTE HL&ESES (2) Have chlorophyll and prepare their
Comauumer 2 awrenal Sr6L SLMfl&Es own food.
@lﬂ{-ll-'ﬂ- ; z ' P e (3) Their body is made up of hyphae
@) @euprdleir 216 eLsdld sTsimggd called mycelium
Wmuu"fﬁﬁ"f}m @gmELime BTGl (4) Reproduces by sexual or asexual
(4) umsSlaor, Lopgd LumsSleor (penmeserlsd method.
@earitumssd Galdng.
115, uUssmiD Ln_rrmlrﬁ g{g}@ﬁ ﬁll'ﬂ.!l]:l.b 115. The evergreen ornamental plant is
1) smussiv 2) snSi_om 1) pinus 2) Ephedra
I fFiin 4) o&CGafiur 3) Gnetum 4) Araucaria
388 /116~ 6
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116. sissmIs&smyss QSADTETS
LomDDLsDL B SMLSIT—6mL_— g HemesnL
CeusfufiGud Hapey
() gefiéCaiidme  (2) Liunéast @Rz
@ CETSee @) i Siepmize
sflwrer Guims&et

117.

Grmiie it LITQLD pL0erkhisssir
i) &menm - A) G;[,m,i.,
Ggm_iy
i) @l amsin - B) amumissr
i) eelldamisss - C) oyEss0mer
i
iv) GgmyCsmi - D) aleurkig; & eflsar
Smubrt
1)i-C, ii-B, iii—-D, iv-A
GI=C T=B #-d, v oD
3i-D, ii-B, iii-C, iv—A
4i-B, ii-C, iii-D, iv—A

118. weflg 2.1 biflsh SmewNILL S&nipw 1As
[BemomseT sTgibLy
() sreniy sTiby (2 GzmenL_ erygiy
@) omiy by (4) weiren G @ sTguthy

119.  afwrar Qummgstio

&lrsy oy’ (D6 sh&gsEsm @

i) UbgflemeT - A) uuphens
(M)
i) &6 eyl @ - B) sgm&sTH
STELbL
i) auYsE - C) &sWsgl (s
YL@ STEILDL
iv) yoemepl® - D) @Gy gy
M-8, B-C, D, dves
2i-C, ii-D, iii—-B, iv-A
@i-A, #=C, #i=D, -B
Mi-D, fi=A, =B, - v=0C

1 386/116-7—2:q,
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116.

117.

118.

119.

The conversion of sugar solution
into alcohol with the liberation of
carbon-di-oxide is known as

(1) photosynthesis (2) canning

(3) Fermentation (4) Dehydration

The Correct Match is
Diseases Modes of
Transmission
i)  Cholera - A) Contact
(Vector)
i) Tetanus - B) cutsand
wounds
iii) Leptospirosis - C) Contaminated
water
iv) Leprosy - D) Contact of
animal’s
urine
1i-C, ii-B, iii— D, iv—-A
2)i-C, ii-B, iii — A, iv—-D
@3)i-D, ii-B, iii — C, iv—A
4)i-B, ii-C, iii — D, iv—A

The largest bone of the human body is
(1) Scapula (2) Thigh Bone
(3) Sternum (4) Cranial Bone

The correct match related to synovial joint
is

Svnovial Joinrs Example
i) Ball and - A) Elbow
socket joint

ii) Hinge joint - B) Tarsal Bones

iii) Gliding joint - C) Atlas and axis

iv) Pivot joint - D) Hip Joint
()i-B, ii-C, iii-D, iv—A
2)i-C, ii-D, iii — B, iv—A
(B)i-A, ii-C, iii-D, iv—-B
@i-D, ii-A, iii— B, iv-C
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The outer layer of a bone is called

(1) Bone marrow (2) Periosteum
(3) Tendons (4) cartilage

The air pollutant, that reacts with
haemoglobin in human blood and gives
carboxy haemoglobin.

(1) Carbon monoxide

(2) Carbon di oxide

(3) Nitrogen di oxide

(4) Sulphur di oxide

The addition of hot water o water
bodies upsets the natural cycle. This is
called

(1) Land pollation

(2) Thermal Poliution

(3) ozone depletion

{4) Air polilution.

The smallest particle of an element is
(1) Molecule {2} Atom
(3) lons {4) Compounds

The most abundant element present in
earth’s crust is
(1) Aluminium
(3) Iron

(2) Silicon
(4) Oxygen

The gas which helps to keep swimming
pool clean is

(1) Hydrogen (2) Chlorine

(3) Oxygen (4) Nitrogen

The symbol for the element ‘Arsenic’ is
MA (2) As

(3) Ar 4) Ac

A molecule of ozone consists of
(1) One atom of oxygen

(2) Two atoms of oxygen

(3) Three atoms of oxygen

(4) Four atoms of Oxygen
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Sy ememe
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gfwmer CQUTHSSL

geflogdlstr Quuwit i@
i) ShED - A W
ii) Gleusierf] - B) Hg
jif) LriisfoL ebr - O Ag
iv) Qurgfi - D) Au

iv—-D
iv—D
iv—-B
iv—A

(-6
(2)i-B,
@3)i-D, ii-C,
4)i-D, ii-C,

38% /116~ 9 (Siﬁ~3)
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ii—C,
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iii — A,
iii — A,
iii — B,
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Quick lime is

(1) Calcium oxy chloride
(2) Calcium Hydroxide
(3) Calcium carbonate
(4) Calcium oxide

The common name for

‘sodium bi-carbonate’ is

(1) Baking soda  (2) Baking powder
(3) Washing soda (4) Bleaching powder

Law of definite proportions was
proposed by

(1) John Dalton (2) Democritus
(3) Joseph Louis proust (4) Lavoisier
Proton was discovered by

(1) J.J.Thomson

(2) Goerge Johnstone stoney

(3) Gold stein

(4) John Dalton

Which of the following statement is

incorrect regarding properties of

cathode rays?

(1) Cathode rays travel in straight lines

(2) Cathode rays are made up of large
particles, has mass and kinetic energy

(3) Cathode rays are deflected by
magnetic field.

(4) Cathode rays depend on the nature
of the gas inside the tube.

The Correct Match cf the follewing is

Name of the Svmbol
element

i) Gold - A W

ii) Silver - B) Hg

iii) Tungsten - C) Ag

iv) Mercury - D) Au
(Hi-C, ii—A, iii—B, iv-D
2)i-B, ii—-C, iii-A4A, iv-D
3)i-D, ii—-C, iii-A, iv-B
4i-D, ii-C, iii—B, iv—-A



134.

136.

10
Gzefl @ Bomef, smuft whpid o HESD 134,
uafidelly gyal epsrmid snflesouiish o srem
Geutiuflsmeu
{1 Bilstr GisrSiflsmso
{2) Eiflstr 2_smp Hlemso
(3) Bflstr (piiyesif]
(@) sefl&Faf0aluflane.
. gafiéaf Galiufismeo 135.
(1)273°C (2) -273°C
(3) 100°C (4) 0°C
gtliwrenr GUTEHSSD 136.
2ierey Sl oz
) Geadubse - A) Gaewmgeom
i)  Gumrmeflear - B) Qmeaflsir
S{eTe
i) gofdsfley - C) Gumed
iv) [leom - D) &HGsr &lymb
(Hi-B, ii—A, iii — D, iv—-C
@i-C, ii-D, iii— A, iv—-B
(3)i-D, ii-B, fii-C, iv-A
(4)i-B, ii-C, iii— A, iv—-D
. g6 Osias apustenipufes umilsr 137
Giraud Proflysreng). @zm_pufisr o wmb 28,
urmilefislr o5& 800 LA Lefimhiy
yOsssHir  whHly 10N s
Qmmaimimed, 256 puflst plLEGEdio
2S5 ereuniere) @GEHEGD ?
(1) 16,000 N/m*  (2) 160 N/m’
(3) 400 N/m? (4) 4000 N/m’
. yeSuflefimig @@eu Gula Geshnitlsisn 138.
suaflosirL & SWYSHSHem Sjemey
(h efafscdna @ &mpspg
() sfuréipg (4) urisdlurs 2_srerg.
388/116- 10
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The temperature at which saturated
water vapour, pure water and melting
ice are all in equilibrium is

(1) Boeiling point of water

(2) Freezing point of water

(3) Triple point of water

{4) Absolute zero

Absolute zero with respect to
temperature is

(1) 273°C @y=213°c
(3) 100°C @ 0°c
The Correct Match is
Quantities Unit
i) Temperature - A) candela
ii) Amount of - B} kelvin
substance
iii) Luminous - C) mole
intensity
iv) Mass - D) Kkilogram
()i-B, ii—-A, iii—-D, iv—C
@2)i-C, ii—-D, iii—-A, iv-B
(3)i-D, ii-B, iii-C, iv—A
4i-B, ii—-C, iii—-A, iv-D

A rectangular storage tank is filled with
paraffin, The height of the tank is 2m. If
the density of paraffin is 800kg/m’ and
the value of ‘g’ is 10 N/m?, then the
pressure at the bottom of the tank is?

(1) 16,000 N/m*  (2) 160 N/m’
(3) 400 N/m* (4) 4000 N/m’

As one goes higher and higher above the
earth’s surface, the atmospheric
pressure

(1) increases

(3) becomes zero

(2) decreases
(4) becomes constant



139.

140.

141.

142.

143.

Qzrhalimese @f TOSgISSM B
(1) Flp srélgsgmmr@sdr Siumsb
COEETRT QT
@ B\ smMsasEESE LG 2_sTer sfims
@) Qgsremen wrSHedlmEg Camismi aligss
(4) sTemauéid susmgullslT FSaTSEN G
@iemL_Gw @ _srer 2_miey aflne

susflsir 6 JUSSEMS el
uwsTuEILD smadl

(0 ool (2) Geumeb 1B Lt
(3) umm.oreufl (4) Briomeuf)

JCB Geausmev Glinh s&ginnd
(weirGmetamiy)

() umdier A

(2) smrevsiv afl)

(3) umsiassd afidl

(@) By L_soflstr yefl Fritiyefid)
BstraLSsm QUITTEEESE THSSISESEM(H

() epgibit (2) sLsoit
(3) suremsvsuig Bt (4) Semrigy Bt
giflumer Gur@mSsin
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2 Corssgnst
ey Fa
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iii) s yoms - C) Geflussmp
Glpmiissr
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GlmmL e,
A0 D B ek
2)i-A, ii-B, iii—-D, iv-C
MIEBRSRD, WA Wl
4)i-4A, ii-C, iii-D, iv-B
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An example for contact force is

(1) a comb attracting bits of paper

(2) attraction between two magnets

(3) falling of a coconut from the tree

(4) Friction between the road and the
tyre of a car.

The instrument used to measure the
atmospheric pressure is

(1) Ammeter (2) Voltmeter

(3) Baremeter (4) Hydrometer

Earth excavaters {JCB) works on the
principie of

{1) Boyle’s law

(2) Charle’s Law

(3) Pascal’s Law

(4) Newton’s law of gravitation

An example for poor conductor of
electricity is

(1) Pond water
(3) Distilled water

(2) Sea water
(4) well water

The correct match of the following

Name of the Uses
plating
i) Chromium - A) Automobiles
plating
ii) Silver - B) watch cases
plating
iiij} Gold plating - C) Bath taps
iv) Nickel - D) tableware.
plating ¢
(i-C, ii—D, iii-B, iv—A
2)i-A, ii—-B, iii-D, iv—-C
3)i-B, ii-D, iii-A, iv—-C
4i-A, ii-C, iii-D, iv-B
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During the process of charging, which
particle gets transferred from one object

to another?
(1) Electrons
(3) Neutrons

(2) Protons
(4) Atoms

Lightning arrester was invented by
(1) Benjamin Franklin

(2) James watt

(3) George Simon Ohm

(4) Michael Faraday

geypa g|nfleiiwsd / Social Science

146. &fwrer QurGSsio

b

iy OFueay - A) SHeurerfl-
Qummiiiremt B)-@eiraam
i)  @rmgmien - B) Sloursfl -
Qumguiument T
iii) Geusflypey, - C€) SHemrsfl-
Sreral @-sflsmrs
Gurgimsmt
iv) gQmemast, - D) SHarel-g-
Sl @rremsng
CureEargs:
Gurguiumsmt
{i-C, ii-D, iii-A, iv-B
Q)i-C B #H-D. WA
3)i-D, ii-C, ifi — B, iv-A
4)i-B, ii-A, iii— C, iv-A
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146. Find the Correct Match

147.

i) Inchargeof - A) Diwant-i-
Income Insha
ii) Inmcharge of - B) Diwant-i-
Army Arish
iii) Incharge of - C) Diwan-i-
Ambassadors Wizarat
and Lnvoys
iv) Incharge of - D) Diwan-i-
Royal Rasala
Proclamation
and
dispatches
Mi-C, ii-D, iii-A, iv-B
2)i-C, ii-B, iii-D, iv—-A
3i-Db, ii-C, iii—-B, iv-A
4)i-B, ii—-A, ii-C, iv—A

With respect to Shahjahan which

of the policy is incorrect.

(1) Prince of buiiders

(2) Build Jama Majid

(3) Father of Modern Currency

(4) Peaceck throne with Kohinoor
diamond.
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The continent in which the cape of Good

Hope located.

(1) Europe (2) Africa

(3) Asia (4) Australia
Fore-Runner of Akbar

(1) Humayun (2) Babar

(3) Hemu (4) Sher Shah

Whe was clled as ‘Deccan Ulcer”

(1) Sivaji

(2) Afsal Khan

(3) Sayistakhan

(4) Dadaji Khonda Dev

Treaty of Srirangapatnam signed on
(1) AD 1779 (2) AD 1797

(3) AD 1792 (3) AD 1795

Subsidiary Alliance was introduced by
(1) Lord Canning (2) Lord Cornwallis
(3) Tipu Sultan (4) Lord Wellesley

According to charter Act the trading
rights of the East India Company
extended up to
(1) 20 years
(3) 22 vears

(2) 18 years
{4) 21 vears

Which of the following in not Lord
Warren Hastings reforms
(1) passed Bengal Tenancy Act in 1822
to protect the interests of the tenants
(2) Created a permanent police force in
India.
(3) In 1817 a College was opened in
Calcutta.
(4) Published the first vernacular
newspaper called of ‘Samachar
Patrika’
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The year in which the fort St. George
was build.

(1) AD 1639 (2) AD 1640
(3) AD 1668 (4) AD 1669
- The Chief architect who built TajMahal
(1) Kurrum (2) Ustad Isha
(3) Khalsa (4) Farid

The place where ‘ Black hole tragedy
was happened.
(1) Chennai
(3) Mumbai

(2) Calcutta
(4) Bangalore.

Who was called as ‘Peshwa’
(1) Finance Minister

(2) Army Minister

(3) Home Minister

(4) Prime Minister

In whose period the charted Act 1813
introduced?

(1) Warran Hastings

(2) Corn Wallis

(3) Marques of Hastings

(4) Sir John Shorer

Harappa and Mohenjo-Daro civilization
was seen in River Valley

(1) Indus (2) Nile

(3) Euphrates (4) Ganga

Which one is example of Tropical crop?
(1) Cotton (2) Wheat
(3) Carrot (4) Rice

Which process is used the water is
delivered near the root zone of plants
(1) Ditch Irrigation

(2) Drip Irrigation

(3) Sprinkler Irrigation

(4) Central pivot Irrigation

Tea requires an average Temperature is

(2) 30°C

(1) 24°C
4 21°-30°C

3) 21°C
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164. Qzmipun_emw sHUGSSW srGumHeT 164. The fuel that launched the Industrial

(1) sTvoTQlevami @ @@y revolution is
@ s (@) Pevdai (1) Oil (2) Iron
(3) Firewood (4) Coal
165. &emre) SNGLIRSES SPSSTERILD 165. Which one is incorrect with respect to
& ppisatled 678 sussn the condition for the growth of Jute.

(1) Temperature falls below 30°C

30°C -4 @smpsu " Qe
) & Gsopeursr SL_uGlaiflsne (2) Higher than 150cm rainfall

(2) 150 Q&5 GiosvrresT osmipLIeTe) . s
(3) custorL_6b Loster ey @)L_Lb 3) All:iuwte.ll smlfn; 1:leal for the
@ i (4) Higher than 30°C Temperature

166. Gunglauns sy susTqHh 2 WM 166. Generally height of the sugarcane
(015 L (@) 258011 (1)1.5m (2)2.5m
@) 358 LF 445 8L (3)35m 4)4.5m

167. amas@zmflsd TS Glgrr@fil . 167. Which one of the following is not a
(V) TS G\lur@stfaﬂr wmflgge cottage Industry?
(2) umu 'ﬂﬁfm.ﬁm. (1) Stationary Items prepared
() urrsf:sur'ﬂﬂ_ugs_u e N (2) Mat weaving
(@) eprscBlsd LoD LOTILL L S5 (3) Pottery

Ggmflsdsst. (4) bamboo, cane products.

168. csnﬁ;mr.rw s Lnusin'u@‘&gnh_ SEUTLLD 168. A major user of wind energy in the
V) ,__gg,uugi(ﬂrmﬁlmrr (2 giiflser world is
(3) gGomiur (4) gywr (1) Australia (2) Africa

(3) Europe (4) Asia

169. éﬂgiﬁéiﬂ ﬂfﬂQUﬂ‘@mﬂT S flsarals 169. Which country is the largest user of
LiwsruBSGid BT nuclear power
Ve (2) LS (1) Canada (2) Nambia
() sgssvgmsr (4) Siysireiv (3) Kazakistan  (4) France

170. “Slemmi_sir” sremiu@in Weaflsr 2 smrey 170. The place in which abundant food for
GuseTeils Hlent_&@Lh @ Lh fish in the form of plankton available is
o a;a'?n_ﬁ.,ﬂl'_@ (1) Continental shelves
@ esm_m_&?aﬁm (2) Continental slope
Q) pysL (3) Deep sea
(@ QumiisL_d G (4) Trencher

s 'gﬁn{ﬁﬁb'.m@ﬁ LAGILI(HLD LosEeir 171 In which place Jaravas of Tribal Groups
SmeuTLLGILD @) th . O . of People living

U, sy () sypgLomeor jﬂa@am.:m' (1) Canada (2) Andaman and Nicobar
@ qyuifisar (@) ggGrrmiium (3) Africa  (4) Europe
388/116~15
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172. gguilafluser srg)
() sfgeid (2) urGsmeror
Q) Pessh (4) CusemrsmL1”
173, erfl@umass serfloid stgy ?
() Comflwid (2 gysvGusLTeD
(3) o G 4) Gletby
174.  Gumfl gpptiusnL s @S s
umflekissmrel A&t L LT ()
(1) 1986 (2) 1976
(3) 1996 (4) 1956
175, &flwrsor GumsSgto
) uveeml oy - A) Grsgsvant
Sy,eiLLh
ii) HEms - B) Sm&samu
iii) &mepdlym - C) &wsmnt
Gamuilsy
iv) &mEGsmb - D) omsars
[BTEIT
GCamuflsh
M)i-C, ii-A, iii— D, iv-B
@i-A, #-D, ii-B, iv-C
3)i-C, ii-B, iii — A, iv-D
@i-A, ii-C, iii-B, iv—D
176. sflurer QUrGSsSme Coiny Qs
i) Brmuomuemnd - A) Ce&dgmt
i) &meflgrer - B) &n@psein
iii) LsTUMTSLD - O olwrs
psuflaui
iv) Ouflugmsend - D) eursfd
D, I oA Rl
2)i-C, ii-D, iii — A, iv—-B
3)i-B, ii-A, ifi — D, iv—-C
@i-D, 1-B, W-C° v-A
177, s gigran® Si' b gyfiefdsiu
ST
(1) 1945 - 1950 (2) 1951 - 1956
(3) 1956 - 1961 (4) 1947 - 1952
388/1l6-16
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172.

173.

174.

175.

176.

177.

The ore of aluminium is

(1) Sulphar
(3) Coal

The mineral fuel is

(1) Thorium
(3) Nitrate

(2) Bau

Xite

(4) Magnatite

(2) Asb

estos

(4) Copper

India was divided in to state based on

languages
(1) 1986
(3) 1996

The correct Match is

i)  Mount Abu

ii) Tanjore

(2) 1976
(4) 1956

iii) Kancheepuram - 0

iv) Santhome

ii— A,
H=1
ii— B,
-¢

1i-C,
Q)i-A,
(3) - C,
(4) i_As

The Correct Math is

i) The
Ramayana
ii) Kalidasa
iii) Maha
bharathan
iv) Periya
puranam

(1)i-D,
(@)i-C,
) i-B,
(4) i- Ds

ii - C,
ii—D,
ii— A,
ii— B,

iii — D,
iii — B,
iii — A,
iii — B,

- A)

=
0

- D)

iii — A,
iii — A,

iii — D,

iii — C,

Prahades
warar
Temple
Church
Jainism
Kailasanath
Temple

iv—-B
iv-C
iv-D
iv—-D

Sekkizhar

Sakunthalam
Vedavyasa

Valmiki

iv-B
iv-B
iv-C
iv—-A

The first five year plan introduced in the

year
(1) 1945 — 1950
(3) 1956 — 1961

(2) 1951 - 1956
(4) 1947 - 1952



178. Qargsigsw (penpenw wTpHlumss

fiygLom

1) Soud. @bHm smb
2) S gouanisre CH®

3) Sip. eurgQumil
4) $i(m. prUbionmey

179. B&& sfwrer QUTHSSLD

i) soLuemss - A)
SLid

i) Gopisus - B)
Epped Jjemay

i) Coélu soefls - C)
Qamerene

iv) SmaTuGSSn - D)
seall

(1)i-C ii-B, iii-A,

@)i-B, ii-C, iii—A,

(3)i-D, ii—-A, ii-B,

@)i-D, ii-A, iii-C,

180. &flwmer QUTBSSLD

i) @pr.eemu - A)
SiMLOSSLILILL
Sy

i) Qg algmas - B)
LOILOTTT &
LD

iti)y surglesmsmr - C)
SeOL FLLID

iv) QuesrssmsT - D)
Gaedl
Qalums
BH&s FLLD

(n)i-C, ii-D, iii-B,

@)i-D, ii-C, ii-B,

3)i-B, -C, iii—A,

@)i-B, ii-D, ii-C,

3898 ALY

www. TrbTnpsc.com

17

www.Padasalai.Net

178. The name of the Prime Minister who

abolished the bonded labour is
1) Mrs. Indira Gandhi
2) Thiru.Jawaharlal Nehru
3) Thiru. A.P.Vajpayee

4) Thiru. Narasimah Rao

179. The correct March is

i) Black Board

1991 Operation
ii) Minimum
1986 Level of
Learning
iii) National
e Educational
Policy
1992 iv) Education to
all
iv-D ‘i-C ii-B,
iv-D @)i-B, ii-C,
v L (3)i-D, ii-A,
iv-B @) i-D, ii-A,

= A}

- B)

)

D)

iii — A,

iii — A,
iii — B,
iii SE C,

180. The Correct Match is

1997 i) UNO was
established
on

1961 ii) Hindu widow
remarriage
Act

iii) The Dowry
prohibition
Act

iv) The Eve
Reasing Law

1945

1856

iv-A
e (1i-C, ii-D,
iv-D (2)i-D, ii-C,
=ik @)i-B, i-C,
(4)i-B, ii-D,
Y et

A)

B)

iii - B,
iii - B,
iii - A,
iii - C,

1991

1986

2002

1992

1997

1961

1945

1856

iv—A
iv-A
iv—-D
iv—A
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116. At what temperature, the cryogenics gas 116 @af QUL & & e o (HeUM @D
are produced ? Qeuliublena:
(1) Below 123 K (1) 12K 5@ GEOPUTSH
(2) Below 126 K 2) 126K -&@ GDeUTS
(3) Above 123 K 3) 123 K-56 NSk AL
(4) Above 126 K (4) 126 K -5 B85

117. Current is : 117. SenGerm_ 1D Gremgi:
(1) Flow of electrons 1) GTe0E_[TEnaHa 6 Quissn
(2) Flow of molecules (2) @@&&Q]&ﬁﬂéﬁ‘l @QussLD
(3) Flow of protons 3) q@UwLanshsaefﬂém QuissD
(4) Flow of Neutrons (4) @%Lryﬁéﬂéﬁ@'ﬂs’ﬁr Buissb

118. In our house, the potential difference 118. Bog eilige @ sbasEns HeGul
between the two wires are : o grar Wananpds Calml- ur@®:
(1) 240V @ 230V (1) 240V @) 230V
(3) 210V 4) 220V @) 210V @ 220V

119. The expansion of LED 119, LED-6n1 eQlfloum&sid
(1) Lead Emitting Diode 1) arfw o 101D oL Guir(
(2) Liquid Emitting Diode @ Sreu 281 el Gur(h
(3) Light Emitting Diode 3) g 2 Olip L Gur(
(4) Light Crystal Diode 4) qefl Lgs e Guir()

120. In thermal power plant, the conversion of 120, HeTE <=, DDV gl 5D, <=, H M
energy is : WIHOD
(1) Chemical energy into electrical (1) Gaud SLHO - \SlamenThHmed

energy

(2) Heat energy into electrical energy (2) Qe DD - (BlenenmHmed
(3) Hydro energy into electrical energy @) B SpHOE - Ol estenmhmeD
(4) Wind energy into electrical energy (4) srOm =L DDE - \SemestmhmeD
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121. Non-radioactivity elements is/are : 121. sfflwssopn saflon :
(1) Uranium (1) wyCrefwid
(2) Lead (2) srfubd
3) Radium B) Crguwib
4) Polonium 4) QurCeraflwib

122. Thedevice which convertsolar energy into  122. @gflw y,pmene Wlenenmhmens wrpmibd
electrical energy is : STHELD

1) Solar stove 1) Giu ey

2) Solar heater 2 @fw B - Qeuliuppliy
3) Solar cooker 3) Gflu smwwhHsme
4) Solar cells 4 @fu Learsaan
123. Match the following -Composition of 123. QurEsgs - arHfler @evwiy

air

Gas In mass % sumy Hlenn #seisn
(a) Nitrogen i 1.0% : (a) eoBLymen (i 1.0%
) Oxygen (i) 0.046% (b) <pbellggenr (i) 0.046%
(c) Argon (i) 75.50% () yrEmen (i) 75.50%
(d) Carbon dioxide (iv) 23.20% (d) s&rruer en  (iv) 23.20%

- 122l ()

(@ (b (o) (d) (@ () (@© (@
1) G @) @ @) 1) @) @Gv) () (i)
@ @) 6@ Gv) (i) @) () @) (@v) (i)
@) @) () G (v) () @) () @G ()
@) @ @) (v) (i) @ @) (@) @v) (i)

124. Maximum number of electrons 124. ‘1’ ajl;l_uurremg,uﬁ]éo @uﬁj @asfrs'rr@d)
accommodated in ‘L’ shell is : %I@ELJI'_& Tslrratsaien erar -

af&Gens:
1) 2 (2) 8 1 2 (2 8
(3) 18 4) 32 (3) 18 (4 32

www. TrbTnpsc.com
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125. When sunlight passes through window of 125. @flw gefl HID eu@ L9 6 gemen e

the classrooms, its path is visible. This is afiGw ambEUrgl SIS LTS
due to __ __ of light. @g;rﬂsug;ém FHTTETLD @mﬂuﬁ]eﬁ :
(1) reflection @)  Grdueiliume
(2) scattering (2) &spere
(3) refraction 3) qefeflesnrad
(4) diffusion 4) el UTaIeTE
126. Example for polyatomic molecule is : 126. L@TD NP OETD QaranL
5o BDE OB
(1) Helium (2) Ozone 1) abedud 2) gCame
(3) Phosphorous (4) Oxygen (3) umevLgeED (4) p&edlmen
127. When potassium chlorate is heated, 127. QurlLr&wd GCarmGrienL
oxygen is evolved. In this reaction GHuBsze Curs S EEgen
__ is used as a catalyst. QaualCuméps. Qb5 efeoamufled
{, SEiSE Aeoaysdurs Cewe
u@HDS-
(1) Manganese oxide (1) wrhsats < Samav()
(2) Manganese dioxide (2) (loTEISEE L Y- 2 G
(3) Manganese chloride (3) wm rsats GGamrar(h
(4) Manganese sulphate (4) st gOGUL

128. The chemical compound present in white 128. umsaflguérem ererTd & Qeudreneris

enamel coating in our teeth is LLegsle sreiiu@n  Ceudo
Qummer: |
(1) Calcium phosphate 1) sreoflub U mevGLIL
(2) Calcium sulphate 2) sroflwb goGuL
(3) Calcium chloride @) sredud Gherramy ®
(4) Calcium Carbonate @) srosub sriruGen_
10
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129,

130.

131.

132,

When

water, it turns milky.

is passed through lime

oxygen
(2} carbon dioxide
nitrogen

(4) hydrogen

Write incorrect match.
(1) Gas in liquid - Soda water
Liquid in gas - Cloud
Liquid in liquid - Milk

Solid in solid - Smoke

Find the atomicity of Ozone if its atomic
mass is 16 and its molecular mass is 48 :

The gram molecular mass of water (H,0)
is :

1)
@)

18 g (2)

(4)

9¢g

4 g 40 g

www. TrbTnpsc.com
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129,

130.

131.

132,

www.Padasalai.Net

[CODE] X | 11 [13]

samrammoy  Biflayer

Qegisgid  Gurg

urew  Gume

OTHE D).

(1) =&edlger

(2) asmiUe 0L dmen(h
(3) enpLyRen

(4)  enamiqrEge

Qurmssonn Glenemranil GTLGIS.

(1)  euruyeiicv Bt - Garim B
(2) BirwsdHd eumy - Guosib
(3) Brwgde B - Lma
(1) Gamwiild famobd - yeos

eCsraflear samblerm 16, epadanm
Hlenp 48 erafle, 2igen Samssl(H
GTEU0T GTGUTGIT ?

Biler Eymbd epedamm Blap (H,0) :

)
®)

18g (2)

)

g

4 g 40 g
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133. Match the following :

Gas Mass Percentage
(a) Lemon (i)  Acetic acid
(b) Grape (i) Oxalic acid

(c) Tomato (iii) Tartaric acid
(d) Vinegar

(@ (® @ @

(iv) Citric acid

@ @ @) @ a6
@ @ @ @ )
@) Gv) @) @) O

@) @) @) O @

134. Example for sucking insects L

(1) sugarcane borer
(2) leaf hoppers
(3) grass hoppers

(4) caterpillars

135. The hardest part of the human body is :
(1) Nail
(2) Bone
(3) Skull

(4) Enamel of the tooth

136. The mammal which can fly is:
(1) Owl (2) Egrets
(3) Darters (4) bat

www. TrbTnpsc.com

133. QurBSZIS:
Uy Hlenm saeigD

(a) er@blEams Q) =8lgé
SiBleotd

(b) Eyricos () psevmals

©) s&sTaf i) Lmiirflé
Sibleis

) Saimn @) Afs sdan

@ O © @
M @ ) @ 6@
@ G O G

@3) Gv) @) ) @
@ @ @) @) @)
134, e flggal LEEsEREETE SHCETALS

s

1

(2)

®)

(4)

135. wallg o Ldlen Blas suanoTen UGS
(1) BsD
(2) erauby
@)  wame Gwr

@) upsafler aranToe

136. LD&EGD Smer Clemam Lrgn iy :

1) ppes ()
() LmrrLey  (4)

ol &H'aii}

QUETaTeD

12
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187,

138.

561 R

140.

141.

Bio catalysts that speed up reaction in cells 137
is:
(1) Enzymes
(2) Organic acids
(3) Antibiotics
(4) Steroids
In man, blood sugar level under fasting 138.
condition is :
(1) 70 - 140 mg/100 ml
(2) 80 - 100 mg/100 ml
(3) 70 -120 mg/100 ml
(4) 80 -120 mg/100 ml
Measles are caused by the way of : 139.
(1) Indirect transmission through
fomites
(2) Transmission by animal
(3) Direct transfer of germs
(4) Transmission by water
Which part of the brain is the seat of 140.
imagination ?
(1) Thalamus
(2) Cerebellum
(3) Cerebrum
(4) Medulla oblongata
The germinal epithelial cells of animals 141,
undergo ___ cell division.
(1) Mitosis
(2) Meiosis
(3) Both mitosis and meiosis
(4)  Amitosis
13
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|CODE[ X [ 11 [13]

6l en 6o1 oar 5 &l & &1
STEMMENLOSS LI (HLIEnEY

1) Gprdlsdr

b

) &Ml sueiiser
o udlir erdiliLi Gumasl ser

it

(
(
3
(4)  evligrmihsen

walgaler Qréss siT&smr 26mey
2 GTG&H (G (LpeaTeuT

(1) 70 - 140 8.41./100 1S.¢0.
(2) 80 - 100 .8.41./100 8.8,
(3) 70 - 120 18 &)./100 1565
(4) 80 - 120 5.4)./100 5.9,

weawre@eurdl beaw Crru uye-
sQI&sTEn culfl :

(1)
2)

WEDPSIOTE CHTI L6 s
dloni@gseailer ppad Crmi
Lpege

(3) Gprguwirs Grmis Lireyse
4) Bflen ppeod Cpmir Lipe g

gpeneruilen orhs LGH sHUMmans
gpefer @b ores Slapdimg?

(1) semwen

(2) SAmiepenen

(3) Qumepenar

(4) @p@eTd

el ev i G s arfl ann Qa6 umEs

qlfelwe Qsogafle
Gelflge par Gumdng.

(1) evwlirélev

(2) wWwrdew

() ewlLrdev whmb Bwurdey
@) egenlLrflev
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(1) Fungi
(2) Protozoans
(3) Virus

(4) Bacteria

(1) Ornithophily
(2) Zoophily

(3) Anemophily
(4) Hydrophily

from ?
(1) Potatoes and Rice
(2) Potatoes and Sugarcane

(3) Corn and Potatoes

(4) Corn and Wheat

off by means of incineration.
(1) bio-medical wastes

(2) radioactive wastes

(3) bio degradable wastes
(4) Non biodegradable wastes

14
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142. The first formed organism in the earthis 142.

143. Pollination by birds is called . 143,

144. By which plant the Bioplastics made 144.

145, wastes are usually disposed 145.

upealsdr epob Bl GQumb
warpss Gsréema ereuaurm SiMPS
sUuOEmng ?

1)  <iaflgCame 5

2) @ 9a

(3)  AeaflGomsYledl

(4) amigCrrss9al

o uifl GeTTELIGS@GSET THS STEUTEI-
saflelmbe swrfisst LEEHDE?

1) e meverddlphiE wHmb &

2) e (hearsdpEIE LHOIL SHDY

(3) wasTEGsTaTd WHMID 2 (HENETSH
Spbie

@) wssrEGerard LOHMIL CHTEIEMLD

______ sflejser erllssLiu_Hé
smbLeTESILHEDS.

1) 2\@f wEsseus sfleyse

) sdieiéss Hpar  Cemem
sle|s6r

() =2.WfA AmsaiemL b sl ser

@) 2.09M AemseumLwrs sflajsar
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SOCIAL SCIENCE / &oip& oinleSlwied

146. Which was the birth place of Renaissance ? 146,

(1) - Ttaly (2) Germany
(3) England (4) Austria

147. Who were the people of Kurinji region ?
(1) Idayar (2) Uzhavar
(3) Minavar (4) Kuravar

148. A great demand for the raw material was 148.

created by

(1) Industrial Revolution
(2) IT Revolution
(3) French Revolution

(4) Agrarian Revolution

149. In Russia, the Czarist government was 149,

overthrown by

(1) Lenin

(2) Karlmarx
(3) Martov
(4) Stalin

150. The followers of Mussolini were called 150.

(1) Black shirts
(2) Brown shirts
(3) Blue shirts
(4) Red shirts

15
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wniwerFfufer G ib:
1)  Gogmdl (2) Qgiwef

@) Qmiorss (4 pevSfiur
147. GHlErdl Hlov wéser:

1) @eLwi (2) =2ueur

() Bewmeur (4) EDeu

epeoliQur@plseflen Caemauani

S dlsliliguirs 2_(HeUT&El g

(1) Qzrfp Ly

(2) sseaud Qamfleoml L Lrléd
(3) WGrEps Yyl

(4) Ceuermar Lyl &

ragwreiles srTeube L Hevw
WYeay&Es  Qasrear(ph  eubseur
(1) Qevafle

(2) &mTeL LOTTSEL

(3) wriGLmeu

(4) evmadlesn

wp Gemedl el uql eor (& et LT & e

GTE HEDLPESLILIL LGOI,
(1) &mEHsF L
(2) vEUUE slen
(B) BeFslem

@) SHeulys slen
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151. Mein kampf means 151. Quuien grbu ererugen Gum@er
(1) My life (1) eremgy 6uUTLREMS
(2) My struggle (2) erewg Gumprliid
(3) My aim (3) erang Crrésd
(4) My party (4) ereng sLF

152. The Japanese attacked the American ships 152. 2iG@wf&s s_pumLs saTids

stationed at : puUTen sTéEdug)
(1) Port Arthur (1) TEST gj’smm@oa;m
(2) Baltic Sea (2) urdigs sLOUEGS
(3) Pearl Harbour (3) WS35 FSODIPSL
(4) Persian Gulf (4) urrfs euemengLm
153. The UNO was established in . 153. m&dlu prhsdar gamu Carhmeils

sUUL L e
(1) 1955 (2) 1945 (1) 1955 (2) 1945

(3) 1965 4) 1975 (3) 1965 @) 1975

154. The name of the single European currency 154, gCrrulw @eardlwussler qbhep

is : [HITGRT WD

(1) Dollar (2) Yen (1) vLmeor (2) Quen

(3) Euro (4) Pounds B) wCyr (4) ueyeTL
16
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155. Match : 155.
(@) New York (i) 1996 ()
(b) Veto (i) 1963 (b)
() NTBT (i) Head quarters of  (c)

UNO
(d) CTBT (iv) Negative Vote )
@ () (o (9

M @) @ @
@ @@ (v @ @
@ 0 @ @) @)
@ () W) @ (v

156. The highest hills of eastern ghats is in 156,

(1)
(2
)
(4)

Shervarayan
Anaimalai
Javadi
Pachamalai

157. Which one of the following is a leading 157,

producer of Lignite ?

1)
()
(3)
4)

Villupuram
Neyveli
Chennai

Erode

17
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Qurrsgis -
@%u_nrr'r;is (i 1996
TES Qewiyb () 1963 2 Menis
SN@Cemgenans (iii) 0.5,
S &L 1b S IDIIGLD
Cgrii <igm) (iv) erdlireumés;
Corganans
SML_&& L1
@ () (o (a
M @) G @ )
@) Gi) (v) G) )
G) O @) @Gv) (i)
@ @ @) G ()
fusss Qar_isf weaesafl @
2 WITES Loane
(1)  Gereurrwenr weney
(2 <emarvea
() euaurg wena
(4) uwFms Lenay
N&anert. epusHlle  apgen-
oourer  @QLsfd  @miug
— DOGL.
1) eflapdiymb
2) QBWCeu6
(3) Qssenen
@) mCyr@®



www. TrbTnpsc.com

[CODE[ X | 1 [13]

158.

159,

160.

161.

Palk Strait separates India 158.
from_

(1) Srilanka

(2) Myanmar

(3) Maldives

(4) Lakshadweep

The islands of Andaman and Nicobar are  159.
situated in

(1) Bay of bengal

(2) Arabian sea

(3) Indian ocean

(4) North sea

The coastal areas enjoy . ———— 160
climate.

(1) Continental

(2) Equable

(3) Humid

(4) Hot

Temperature decreases with increasing 161.

altitude at the rate of 1°C for every

(1) 100 metres
(2) 115 metres
(3) 165 meters
(4) 195 metres

18
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urs B epd -3 @bHwir-

e\ (mpg ONSHADS.

(1) BemsT

() BlwiemorT

(3) LTSS SHET
4) Qe ssdesd

SiBsLTEr HHD HGsTui Saser

-G 2 _GITETE.
(1) GumIGTET elfl@gLm
2) SrdssLe
3) @BEwU QUI(BEISLE)
(4) eULSLE
. BLOE®T uEHseaild Hlevejeugl
greblene.

sl sreblane

(1)

(2) &wwTE sreblae
(¢) mruug srable
@) Qauiusrablae

e uurtGel GBS o By Qedeé
Gedw s ursdpeE 1°Glg.
g QauliLib G@DHS) QamarGL
Qs ngl-

(1) 100 WS
() 115 Bl
(3) 165 Bl
(4) 195 S
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162. Which one of the following mineral is
contained in the monazite sand ?

(1) oil (2)  Uranium
(3)  Thorium (4) Coal

163. The soil which is best suited for the
cultivation of cotton is :
(1)  Alluvial soil
(2)  Black soil
(3)  Red soil
(4) Laterite soil

| 164. In red soil, the red colour is due to its very 164,
high ___ content,
(1) Manganese
(2) Copper
(3) Tron
(4) Silica

165. 60% of Indian Coffee is produced in 165.
(1) Punjab
(2) Assam
(3) Karnataka
(4)  West Bengal

166. The upper house is known as : 166.
(1) Rajya Sabha
(2) Lok sabha
(3) Cabinet
(4)  Parliament

19
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[CODE[ X [ 1 | 137]

CorGarmrens Loewrailed e i

gl
(1)  erewrQemri; 2 wCrefwib
3 Carflwib (4)  Hesas

163. L4 eflepers arpm ey -

(1)  eueTL & wemr
(2)
3)

(4)

sflead e
Q&b et

FTENET LoGRT

Q&b @i feuliy Bmrs Bméss
EITTERTLD 2Fleb 2 grar:

1)
(2)
(3)
(4)

OTRIS&Ten©
STidlyid
Booy
Ssar

-@

Qbureler 60% sriig
2 MG Qau'_ll.ux_'lu@eﬁg)@.

(1) uEsery
(2)  =evevmn
B) siBT_ &b

(4) G eumsb
GudsamL GTGTLIg,:
(1)
)
3)
)

TTEWIFanL
CargaenL
ST Qe

UTTTEsLeTmib



[CODE[ X | I [13 ] |
167. was one of the most explicit 167 GSLHOSS Qsr@ssme (p&HEW
reasons of child labour. GITTEIED, e ’
(1) Poverty (1) e
(2) Over population (2) D&ESET Qsrens G Li(H&&LD
(3) Iliteracy (@) pwrenio
(4) Untouchability () SearTLTELD

168. There was a danger of a possible third ~ 168. @evGre, @ridorhgl LHHID (Glimeot

world war when ____ - was Curerp Bre&seT -8

attacked by Israel, England, France. gradu Gurg) ELPETDITLD 2 aglGurT
FgHUD RUSE Garenplug).

(1) TIran (2) Iraq (1)  FEgme (2) IS

(3) Egypt (4) Germany (3) er&lg (4) Qegiroafl

169. Nuclear test ban treaty was signed in  169. @ BU HenLFELLID asw(ps

R ST <& ([H
(1) 1963 2) 1993 (1) 1963 2) 1993
(3) 1936 (4) 1998 (3) 1936 (4) 1998
170. Apartheid was practiced in . 170. @) @FIsHD Qararensenu arupHiw
C
(1) South Korea 1) Ggen Qamflwr
(2) South America (2) Qger 21 Qf&sT
(3) South Africa 3) Ggen < 9fEsT
(4) Turkey 4) SI(HES
171. The 8" member of SAARC is : ﬂL&ﬁéé@mm%ﬁ&@@a@uuMG:
(1) Indonesia ; 1 @ BGeTCeanslm
(2) Japan (2) guumen
(3) Malaysia (3) wGslur
(4) Afganistan 4) plisTeflevgren
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172. The word democracy means the power of

1)
&)

Nature God

(2)

King (4)  People

173.

India
America
England

China

174. To contest an election a person should be 174,
above the age of
(1) 20 (2) 18
(3) 25 (4) 35

175,
equivalent to that of the

(1)
(2)
3)
“)

High Court Judge
Supreme Court Judge
District Court Judge

Magistrate

176. There is an _____ relationship  176.
between price and demand.
(1)  direct
(2) inverse
(3) market
(4) trade
21
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172. QBTSS!

Singly party system is practiced in 173.

The status of election commissioner is 175,

ICODE] X | i | 13]

rarug
2fsrdeos @hadpg.
1) Quies (2) sLeyer
B) <=yer 4) wsser

R0 L8 (penp Qeruppiu@L BrE

GSwir
<2QwA&sr
Qrudlerig,
e

(1)
)
(3)
4

Cairgeile Curlyul. Csemeuwrar

uwg
1 20 ) 18
3) 25 4 35

Carge DOBTLI(HESG Bevewrwirs
2Flarrod Gl&merig (L Leur

@™
)
(3)
4)

2 wirBdlwemm EHud
2 sBnany FHLH
reu L Bud

wrglav Cri

aflemav s g b Csmeausen e Guw
ae’rren@g;m_r'rq:

1) Cpryg

(2) sadp

®) spas

(4)  elwruryin
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[CODE[ X [ 11 [13 |

177. GDP-Depreciation 1s ; 177

Qurss 2 GTpTL(H o HuGSH - G-

rend QFwa] =

(1) Pd (1) T QU(THLDTETILD
(2) NDP 2 a7 2 eTBI_(H 2 HUSS
(3) NNP @) Bar s =Huss
(4) NIP (4) gen@UiLTé QareTens
178. Per capita income is obtained by dividing  178. geom @D Terld erenUgl LGy
National Income by ; QUHLIESE®S - 260
auEEss o Lus
(1) Depreciation (1 G LD TEnD
(2) Population (2) D&SET QsTens
(3) Savings 3) Gslliy
(4) Investment 4) s
179. Non-intervention of government in 179. ST& QUIHETTETTE Qsrarenssafla
cconomic activities 18 termed as FHULTE DBUUS D GID.
(1) Privatization (1) saiwrt LOWIOTSHED
(2) Liberalization ) g;rrr,rrrerrmmmrrg;é)
(3) Laissez-faire 3) g;em@)uﬁ\LWE QareaTens
(4) Double counting 4) @D SaTHHHED
180. Primary sector consists SO s TR s S eremug
(1) Trade (1) euanfisd
(2) Construction (2) sU_LenolLs S
(3) Agriculture (3) CeueTraantng Hievn
4) Telecommunication (4) QsTenad Qgriiub geoD
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Code No.

VIII| I 12
LQ@euster / Roll No.

Ggiia| soowiGSHeir sreior.  auflsns stedor
Centre Code No. SI.No.

I e o

25Csiey @ra® LEGHsmsT 2 mLwg)

UGB IosgBipeir Bgitey

UGS N upliufie)s Sipsir Cxitay

By demsgrdr, uGH-l  wergHmsr
Caiaflparmg. @QliugHssTar alammssenés
(efler  erer.l e 90 eusmy) eflemLwelds
Q@uHsaiu@n Grmd 90 Huflfisst gy@ib.
PlugHéssrer wHICUsTEST 90,

uGH | Garseh uGH Il Cotuseh Caisg
8Cr OMR aflmgomst g’ Psirerg.
Blsusflsmrégmen s @ fiu sflmL_smiwl,
sfleoggrafles “LgP-l wersSHpsr Coiey”
u@Hulles, Sbghs eflem cETEsE THCEr
SEA@sirer 2 fl &1L SHDGT B / sy
ursoumiflsim’ Guerrmeflsormsd  Qgeflours L soL
S Geustar(pid.

slemgsmr  USsESHPID el SFmeflgid
ugley eTettTementT ShiGEHEE CETRESILL Rerar
2j@indl gy el QsEr@sgisteraumy, Gy
SoLOW eTevTememTILLD, euflsme sTevmTemsmTLth Carihg)
Qzaflauras @Ml Couster(ib.

2 gmyewrons  Ggie) emow  ersmor. 0102
Coifumbansr euflme  eewr.006  srsimmmed,
bRuUEST 2lu, 6 SLLEHNG GG
@éswns Wsiraumon sgs Castm(Lb,

ugle) sTetr,
Ggita) aaiowdSleir steor. surflene e7soar.

lo[1]o]2 ] 006

3gg/ns—1 ‘A
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This Test consists of Two parts.
Part | - Mental Ability Test.

Part Il - Scholastic Aptitude Test.
This question paper is for part - |
Mental Ability Test. Time allotted to
answer the questions in this part (1
to 90) is 90 minutes. Marks to this
part is 90.

To answer part | and Il only one
OMR Answer Sheet is provided.
Answers to this part to be shaded
in the appropriate box in “Part -
Mental Ability Test” portion, using
Blue / Black ball point pen.

Write your Roll Number as given in
your admission card. (Centre Code
No. and SlL.No.) very clearly in the
question booklet and in the Answer
Sheet (Only one digit in one box)

For example, a student appearing
from Centre Code No. 0102 with
SI.LNo. 006 will have to write the
Roll No. as follows.

Roll No.
Centre Code No. SI.No
[o[1]0]2 ] olo]e




6iT
SUTITSL Liig S5/

sflenLSgmeflsd Ggtauflsir Quwit whmb uay
sTersmsuor Lol RGL0 QyeudiinE o
sl Liusafls sragdh enasQumibl CustrGib.

. GTebsU afleurmés & 15L0 &L_Lmomeug;.
e weflés egssiu pmiug @G
Crmd ersiruBT), MBS @ eNaTTaEEID
Sifls Crprgms CQevaifissmsd srusms
permuwsié@in eflglns LwusTuGSSaLD.

. eflermggmer USs585Si0 euGleur(s
aflamas@h aflmLwrs Qar@ssiu Gsrsr
wmg oo slfimig sfurer  afla
6T 6U0T 6 60T &5 & Oy 5g, G
il ggrafled o sl sHhesr Bo /
&L uimsbLmuSlever: Guetrresiemmsh
Ggaflurs U mLg S Coustor(@iin.

. sllmLgenefld @m alamaiide sshine
Cupu'®  oflor  semmessT  wlemL
SLpuilmisréor, 50T, HHSAGUT
st Sl GGeor Sjsiaflen._sEndics
ol iGlLstresT QarBSasiu e rg.

. eflemagms USSBEHED senL Al
Commuurs syHiumés Qangs srsraer
o eromerr.  @ULIGHUND @ ster  afemLamer
LS pH©E TOSSIEQSTsTETILL M L Tg).

- sppd Gemnfsr Curg o mimerg
uSlClsusiorenemr (s emiow eeior LMD
surfleme Tettr) Seupmosd G ayb.

388/115-2
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Other Instructions
Read Carefully

. Write only candidates Name and

Roll.No. in the space provided in
the Answer Sheet and affix your
signature.

. All questions are compuisory.

Since the time allotted to answer
is very limited, you should make
the best use of it, by not
spending too much time on any
one question.

. Choose the correct answer from

the options given for each
question and shade the
corresponding box with biue /
black ball point pen, in the
answer sheet.

In the Answer Sheet if you shade
more than one answer number
or if you overwrite or delete the
answer number, no mark shall
be awarded to that answer.

. Two blank sheets have been

provided at the end of the
question booklet. Use it for
rough work. Answers on these
pages will not be considered for
Vaiuation.

In future for correspondence, if
any, quote your Roll No.
(Centre Code No. and Serial No.)

without all.
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PART -1

MENTAL ABILITY TEST

Time : 90 minutes

Marks : 90
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auflypenp (eflsor sezr 1-7)
CerGésiu’ @edr  aumigmssafis
Gam_ubpgres S amigmguamsr

CoihGsBémayuh.

| & (1) Blue
(3) Orange

rJ

(1) Asia
(3) Australia

3. (1) See
(3) Smell

4. (1) Uncle
(3) brother

th

(1) JOT
(3) FED

6. (111K
3)3cC

7. (1) STUA
(3) MLKA

(2) Green
(4) Pink

(2) Europe
(4) India

(2) Hear
(4) Think

(2) Nephew
(4) Niece

(2) OUT
(4) DOG

2)17Q
(4 8H

(2) RQPA
(4) HGFA

www.Padasalai.Net

Direction (Questions 1-7)
Choose the word which is least
like the other words

(1) Blue (2) Green
(3) Orange (4) Pink
(1) Asia (2) Europe
(3) Australia (4) India
(1) See (2) Hear
(3) Smell (4) Think
(1) Uncle (2) Nephew
(3) brother (4) Niece
(1) JOT (2) OUT
(3) FED (4) DOG
(H11K 2)17Q
3)3cC 4)8H

(1) STUA (2) RQPA
(3) MLKA (4) HGFA

afigsmp (@lerr s 8~14)

G sflsmafgh Casirallé @
B sHewan, Qarpéslin Gerer 4 Lomp
sl salflie Coib0s0ss Hmpey
Geilw Saustor@ic : : ety @GPl Gées
erert @ anidmssst Qgmy

UOSsIL QeTeTg. giEs Qemiiy

Wrdusild@n sl ETeiTY

(G0 T T (SNeireort LT

UM SESE (e Zysminis Coustarid

Chimney : smoke : : GUN : ?

(1) fire (2) bullet

(3) death (4) army

DDA : ADD ::RRB:?

(1) RBR (2) BRB

(3) BRR (4) RBB
388155 |

www. TrbTnpsc.com

Direction (Questions 8§ — 14)

There is a question mark in both
questions in which only one of the four
alternatives given under satisfied the
relationship as in found between two
terms on the other side of the sign : :

Chimney : smoke : : GUN : ?

(1) fire (2) bullet
(3) death (4) army
DDA : ADD ::RRB:?

(1) RBR (2) BRB
(3) BRR (4) RBB



10.

&

ok
b2

13.

14.

15

16.

17.

India : President :
(1) Prime Minister
(3) Chief Minister

: State:?

(2) Governor
(4) Mayor

Eyes : Tears : : Volcano : ?

(1) Lava (2) Heat

(3) Water (4) rock

12:169::14: 7

(1) 196 (2) 144

(3)225 @) 121

27:95:64:?

(1) 16 (2) 32

3)8 (4)4

CD:34:: JK:?

(1) 1110 (2) 910

(3) 1011 4)119

suflpsmp (efleor srevar. 15—18)

Csr@ssiu L G hhmasess

SGEsuy el wsfl&sayb.

‘REMOTE’ sresrugemenr ‘ROTEME’ staré

GO Lmed PICNIC ersirugsmer @flé@io

aflgih

(1) PNIICC (2) PCINIC

(3) PCIINC (4) PICNIC

‘479’ ersirug) ‘fruit is sweet’ ersiTgud

‘248’ srstrug) ‘very sweet voice’ ereirgith

‘637" ersirugl ‘eat fruit daily’ erstrgud

GO Lmeb “is’ sreiTuBHESTIL GSPSH

12 2)4

)7 OF;

‘MAN’ STSITLIZH 6m6uT ‘OCP’

sarsGPHodi e  ‘BOY’  erstrugsmer

GEE aflgi

(1) DQZ (2) DQA

(3) CPZ (4) AQD
388/115-6
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15.

16.

17.
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India : President : ; State: ?

(1) Prime Minister

(2) Governcr

(3) Chief Minister (4) Miayor
Eyes : Tears : : Volcano : ?
(1) Lava (2) Heat
(3) Water {4) rock
12:169::14: 7

(1) 156 (2) 144
(3) 225 4) 121
27:9::64:7

(1) 16 (2) 32
@8 @) 4
CD:34:: JK

(1) 1110 (2) 910
(3) 1011 4) 119

Direction (Questions 15 - 18)
For the given situations, choose

the correct option.

REMOTE is coded as ROTEME.
PICNIC is coded as

(1) PNIICC
(3) PCIINC

(2) PCINIC
(4) PICNIC

‘479’ means ‘fruit is sweet’ ; <248’
means ‘very sweet voice’ and ‘637’
means ‘eat fruit daily’. The digit for

‘is’ is
(12
@7

)4
@9

‘MAN’ is written as ‘OCP’ then

‘BOY’ is written as

(1) DQZ
(3) CPZ

(2) DQA
(4) AQD



18.

Z1,

22,
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34" ereirugy “They are well” sreimgyih
738’ esirug) ‘they go home’ ersirih
'369° srirLg) ‘We are home’ srsivguih
SOUSI_LTe ‘go’ srerughEfiu GHulE
(1) 7 )3

(3)8 @1

ufpsom (eflerr stevor. 18, 20)
Snssmgmib uSHasmer Lip &
SomasmeT 2 amriig) afleaLwsfdsnyh,

Sypée Hmsow Crrad Hhsih (e,
seam  Hosullr 45°  HEoydpm.
e 205 swsmr Hmsufe 180°
Aol Serent s aHi Hevsulled
270°  AmiuSpmi. @iCurg sy
CEréEih Hems.
() GsheE

Q) Ozsrdlyses

(@) L Slypss
@ au_Cuhg

goui  goadyrs  Maty  Gursr
QalmbGurg),  yeurg yeh  Cuhe
Cprédl ogmudlpg. oinurs ELg os
CEré@h Hene

2 L&
@) u_Sypés

() Gspe
@) Spse

sufipso (eSleor sregior. 21-23)

S&srgmild eflerrésafled srsvraser
8 GOl afluflsirLip
sufleneliL@SS L’ Hsirarer. Caeraflé g
(9 BQLriu‘@ster QL s  efluns

QurGEss Galglll sT 60T 6ouflswsor
CasrOéasiu’ Bsirer 4 Lo
allenLseflsSlmEg) ComsOs@ssaD.

1L 12,3087 2 ..cccinver

1)91 (2) 101

(3) 111 @) 121

S, LIS, 22, 7 (icinse

1) 31 (2) 33

3)35 4) 37

284[115=7 ("
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18.

20.

21.

22.

‘134’ means “They are well” ‘738’
means ‘they go home’; ‘869° means
“We are home”. The word ‘g0’
represents the digit

1)7 2)3

3)8 1

Direction (Question 19, 20)

Read the content, seuse the
direction and answer the guestions 19
and 20.

A man js facing East. He turns 45° in
the clockwise direction and then
another 180° in the same direction and
then 270° in the anticlockwise
direction. Which direction is he facing
now?

(1) South

(3) South East

(2) North East
(4) North West

A man is performing yoga with his
head down and legs up. His face is
towards West. In which direction will
his left hand be?

(1) South
(3) East

(2) North
(4) North East

Direction (Questions 21-23)

In each question the numbers
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under
each sequence for the term marked by
the Symbol (‘?°).

L1218 81 % ...
(1) 91 (2) 101
(3) 111 4) 121
5,7,10,15,22,7 .......
(1) 31 (2)33
3)35 ) 37

RS ST R



= R S BB s O TN 23.
(1)34 )29
(3) 30 (4) 32
auflpsnp (@flsor sevr. 24-25)
Qar@é&siu@sirer Qgm_raseafls
SAUNTE QI 6TewT JiEMFHISTETS 9| 6me0r
CaMeshsEs.
24. 24,27,31, 33, 36,39 " 24,
(1) 24 (2) 31
3) 36 4) 39
25. 8,15,24,37,48,63 25,
(1) 15 (2) 24
(3) 37 (4) 63
sufismp (26-30)
&\ &smgeyin GUEDITLIL[BISS61T
sTeumaemTe) / eTpSgishmenred) (@@iniiL
OE T E T Siu&SUUC Rerarg.
CEr@ésim’ L sflsrréaseifish &
GO iU L. @i g Hopey Qeiuyh
srevorsmflsmen / stugSismen Cois 05,
26. 26.
3] & S]s 8|7
Zyz 0| P |
(1) 56 (2) 22
3)23 1
27, 7 5 - 27.
o] =] ]
3 u L
7 2)4
)3 48
388/15-8
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2.3, 5,8 13,21,% ...
(1) 34 (2) 29
(3) 30 (@) 32

Direction (Questions 24 — 25)
Find the wrong terms in the
series.

24,27, 31, 33, 36, 39

(1) 24 ()31
(3) 36 (4) 39
8, 15, 24, 37, 48, 63

(1) 15 (2) 24
(3)37 (4) 63

Direction (26-30)

The diagrams and the numbers/
letters follow certain principle. Fine
the missing anumber / letter indicated
by questior: mark (‘?)

3|4 516
217 Win

£
ik

(1) 56 (2)22
(3)23 @1
i 7] ]
Lé o2 | [ 8 ]z] s ][ o]®]7 ]
i s o
@7 2)4
3)3 48
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9
Y Al o= | 12 . S B Wy T
7 58 E T 58
I H 98 | H 98
(HH 2)J (HH 2)J
3)F 4G 3)F 4G
29. 29.
(1) 20 (2) 16 (1) 20 (2) 16
3) 19 417 3) 19 @) 17
o f g 30, 1 ;
7 m S ? 5 7 m 3 8 ? §
12 1z 12 12
(1) 78 (2) 88 (1) 78 (2) 88
(3) 98 (4) 108 3) 98 (4) 108
suifienm (efler srevor. 31-35) Direction (Questions 31-35)

Spssrgun omssEnseE el Identify the most appropriate
Our@Stomer eflenLuflemerr alternative among the given four
Clards iU e 4 Lo alternatives.
sflsmLasaflsdlelizg) CaibOsBEsalb.

3. Qo Sgwiist @G Apamise garomd 31, “Two boys in front of a boy, two boys

2_smemsorit. @\ Hpieuradt @ ApumEE
Setremmsd @ smement. @@ Hyeust G
FlpeuisEné@ @ ulls) o srammsir sTeuflsh
GophsU_es Aeuisaflsr srammilsms

(1) 6
(3)7

)3
4) 4

behind a boy and a boy between two
boys”. The smallest number of boys
for the above formation is

(1) 6
(3)7

23
(OF

32. 9@ ghoguilsr sHCurmgL auug gl 32, A father is, at present, 2 and half times

waslstr auuBsh 2 V2 LRSS 2 sTarg). 5
UGLASEHSS (psirenT Shengullsar aug

as old as his son’. Five years back he
was three times as old as his son. The

LosseuflsiT sulgled 3 L RISTS age of the father is.
Bopdopame shmsuls awg.

(1) 45 (2) 40 1) 45 (2) 40
(3) 60 (4) 50 (3) 60 (4) 50
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11

sy (afleorm eretor. 38-40)

seQaimm aflerrafigin 3
sarariue)  spgedt @Gr  aflduflsr
S T ST T 25100 0 TR -
dadieoar san®, 6 IjplusmLullsn
Ssemanuner ga Hileir HlISmerd srevorss.

1x2=32;4x3=712; 4x7=1128 38.

FRi 7x3=

1) 1021 (2) 2110

1) 1010 @) 2121

2-3=89; 3+4=2716; 39,
4=3=649 sraofl0 1 + 2 =

(1) 81 (2)14

3) 12 @) 18

$x9=144; 7x8=151, 40.
41x6=102 srafled 2x 8=

(1) 106 ) 168

(3) 1610 (4) 1616

auflpeny (eflsorr evor.41-50)

Qar@ésiul L. 4  wrpm
deoLsafld  BsLCOUTmSSLTaTING
CaisBssa|b.

7,10,2,0,3,7,5,8,9,11, 12, 6 erstrp ~ 41.

Gam_fmer aal@hg @LiusSwLTs

ompll  gEwsg, @LUUESOTS 7-ag
sssTenl\(D@ eueliLSSLTES 4—6ug) eTeuoT.

(1)10 )2
3)7 s

01082007 eslTug WSO USSTSIgeDL0 42.

gafle  oyssv.  2007-60  4-nugl
safladpenin

(1) 17.08.2007 (2) 25.08.2007

(3) 18.08.2007 (4) 24.08.2007

388}11541- $-2A
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Direction (Questions (38-40)

In each of the following
questions, three statement of numbers
following same rules are given. Find
the rule and accordingly find the value
of the required statement,.

If1x2=32; 4x3=712; 4x7=1128
then 7x3=

(1) 1021 (2) 2110

(3) 1010 (4) 2121

If2+3=89; 3+4=2716;
4+3=649thenl+2=
(1) 81 (2) 14
3)12 (4)18

If5x9=144; 7x8=151,
4x6=102then2x8=

(1) 106 (2) 168

(3) 1610 (4) 1616

Direction (Questions 41-50)
Choose the most appropriate
option among the given four options.

If the following series is written in the
reverse order, which number will be
the fourth to right of the seventh
number from the left?
7,10,2,0,3,7,5,8,9,11,12,6

(1) 10 2)2

3)7 )5

01.08.2007 is the first Wednesday. The
fourth Saturday of August 2007 is

(1) 17.08.2007 (2) 25.08.2007
(3) 18.08.2007 (4) 24.08.2007



www.Padasalai.Net

43.

44,

45.

46.

47.

48.

1 pged 100 susmmullsvrenr stssorasefleh 4 sreirm
Bsvé &S Semen GmpBSULSD 1
Prssuras QEran®, 4-460 AUGSULSES
SnlpW sTeOTEa16tT sTevaTEWfISEmEs

(18 2)9

(3)6 4)7

42 eerenflsmes  GarsirL el
saflgr, GCgiefled Cusimhig 25—
BLsHemer  gemLEsTH  SfdlmBa
asafigmesisir @b

(1) 16 (2) 19

3)17 4) 18

86 CusigifimousSishg Ga@urs
30 M. @ Qausfuflds wgmrEes
Cumig Oeovdipg. @@  Lwsef
CprésmiurerfiLin  eflemlé@n  Gurg
gt 10 M SHhe (psramigmer
yhemsiu Cuwhgl Upiu Gefi g srsrgid
2065 Gunig 945 AM-&@ osTerg

eTeaT{YILD & Qi sTeafled
aflamiié@Curg 2 ster Grmd

(1) 9.15 AM (2) 9.25 AM
(3)9.05 AM (4) 10.15 AM

S pSSTERYILD 4 QT 560G SHEMET
TdgisesT uplusmiule suflmewns
e EGLeuTg s Suflsh
@ bCugsug!

(1) music (2) multiple

(3) mint (4) murder

‘ APPROPRIATE’stsitp sumisngiifled
Sypaty @b Qb rYSa!

(DR 2)A

(3)P @E

LT L) T SGiSsaflsr auflemaufich
aiLEsSBSGEG 16~ @i Hfld e sitew
TgEEsE Biubsuns B-b G0
2_6iTeT TSI

1) C (2)B
3)D @E
228/115-12
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43.

44.

45.

46.

47.

48.

How many numbers from 1 to 100 are
there such that these are not only
exactly divisible by 4 but also has 4 as

a digit?
(1)8 )9
3)6 7

Kavitha is at 25" position from the top
in a class of 42 students. Her rank
from the bottom is

1) 16 (2) 19
3) 17 (4)18

A bus for Madurai leaves every 30
minutes from a bus stand. An enquiry
clerk told a passenger that the bus had
already left 10 minutes ago and the
next bust will leave at 9.45 AM. The
time of enquiry of the passenger with
the clerk is

(1) 9.15 AM (2) 9.25 AM
(3)9.05 AM (4) 10.15 AM

Arrange the given words in
alphabetical order. One that comes
last is

(1) music (2) multiple
(3) mint (4) murder

Which letter occurs most often in the
word ‘APPROPRIATE’?
(DR 2)A
3P 4E

Which English alphabet letter is eighth
to the left of sixteenth letter from the
right end?

mc @B
3D @E
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49.

50.

51.

52.

53.

54.

55.

‘MEASUREMENT’ eréirp sumi&emguled
2_6iTeT TS gibsaflelmEs)
o HaUrdsiLLL BeTGsTTs e Hms

(1) MASTER
(3) SUMMIT

(2) MANTLE
(4) ASSURE

‘SELFRIGHTEOUSNESS’ srsirLigemeur
susflES) G LGS TS Hmind
T SIDCLITE, flemen BL&SHleneor
55 BMUSHIECQSTETEBLD TIYSSI

ME @G

() H (4T

suflpsmp (eflerT svevor. 51-55)

Sp&aTamid SUSHITLIL RIS
gaflggefiurs 3 2 milnselear
Qamiysmerd Garsrgl el
afisrmefigud Qamé s erer
Cer@lusst gOs@D @@ U_SSoer
HesraiGSIHNG. JSMENS STeors.

@@

Bus, Car, Vehicle

Cats, dogs, pets

Lawyers, Doctors, Teachers
Asia, India, Tamilnadu

Human beings, Educated, Employed

388/115-13
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49.

50.

-3 8

52.

53.

54,

o5,

Choose the word which can be formed,

from the letters of the word
‘MEASUREMENT’

(1) MASTER (2) MANTLE

(3) SUMMIT (4) ASSURE

The letter in the word
‘SELFRIGHTEOUSNESS’ does not

change its position when the letters are
reversed, is
(DE
A H

@G
4T

Direction (Questions 51 —-55)

The following diagrams shows
some relationship among 3 items. For
each group of elements there
corresponds on diagram (1) or (2) (3)
(4). Select the diagram

CICIChet

Bus, Car, Vehicle

Cats, dogs, pets

Lawyers, Doctors, Teachers
Asia, India, Tamilnadu

Human beings, Educated, Employed
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56.

57,

58.

59.

60.

suflypsmp (56-60)
Spsraid susmru S mEg)
2 flu aflsmL_enws smsirs.

Oesususi-ssafiugiay Qubpsiiast
&Garemmd - pargemes smisautaer
QU LD - 2 WITIONSTeUN SET

srsrugsne GHNBEmG srenflsd

UL Gl *4” sreirp GPI® GHilLg)

() saafiufle; Qubm 2 wnoreratss

(@ saaflufle) Qubm FeTEEsultassT

(3 seafiugey Quprgeaurrssi.

(@) soailugdle G Fersmss
ST GEuIT S6iT

saafhuie) Qumm 2_WiLomesT
paSHuiameTs Gilbeh GG

s )4

3)2 @3

socflufle) Oupre persms &mHs
Gl wreruismeT @GH&@in GG
@6 2)3

3)5 47

soaflufle; Qudp EETSSMITSmeTS
GHSS GHSGssT

MH3&4 2)2&3
() 1&2 @1&4
2_Wnomp, ssafliuge) Quorg
parggaismar GHOIIGEH GHIG
1)6 )5
)7 44
388 I 15—14
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Direction ( 56-60)

For the given diagrammatic
representations answer the questions
for 56 to 60.

‘Rectangle’ indicates ‘Educated persons’
‘Triangle’ indicates ‘urban people’
‘Circle’ indicates ‘Tall persons’

56. The code 4 indicates
(1) Educated tall persons
(2) Urban Educated persons
(3) Non-Educated persons
(4) non-urban Educated persons

57. The urban Educated tall persons
~ indicated the code
15 2)4
3)2 43

58. The un-Educated, short urban persons
indicated the code

(16 2)3
35 47
59. [Educated urban persons indicated the
codes
1)3&4 2)2&3
B)1&2 4)1&4

60. The urban which are neither tall nor
Educated represented by the code.
16 (2)5
3)7 @4
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61,

62.

63.

64.

65.

auflpsop (eflser srevor. 61-65)

Qar@sstiu’_@ersr  fopflsmeuie
eomésst 61 s 65 suenr
aflen_weflésayL.

() A,B,C,D,E,upgn F syéhu
peTUTEssT ulLauipafleh SGMTSHs
S|LofhGIsTeTeuTT.

(i) A srairusui B-&@ susliLb&Lone
@rssorL_mb @_SHeh SyLoiiEGIsTamT.
36s CrraHsH B gyeraut C-5@

Gt srHlyTS SyombgGeam

(iii) C gysreurt D-6@ GBT @ LLbsI0TES
Sjwifgisemmi. 265 CrrHHso D
Syereuit E-& Gpit srHims
SjLoibgisiemmT

(iv) F erebrusupid eul L Sleh SjLobgisiem
fBlemeuuilsh

Spsargd  AlaTSsERSES

umag Coi0sHEsEa D

a flu

B-ofpid A-&(& @mLullsd gpoihgisiameurt
(HC (2)D
3)M (4 E

A-& Cpit st Dpoifhgisiramaut
(1) F Q) E
(3B @C

A-6@ Cpit @LOUsS SuoihgisTameurt
(1)B 2)E
) F @C

Dflsfimig s_smbmaulis Jmerai
2oiigisrer auflsns
(1) DCAEBF
(3) DBFECA

(2) DFBEAC
(4) DFEACB

Ewlfimhs  spsm  adideoeulo
Smeraumh Suoimgister sufles

(1) ECADFB (2) EBFDCA

(3) EACDFB (4) EDFCAB

388[115-15
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61.

62.

63.

Direction (Questions 61-65)

For the given situations, answer

the questions 61-65.

(i) Six friends A, B, C, D, E, F are
sitting around a circular table at a
equal distance from each other.

(ii) A is sitting two places right of B,
who is exactly opposite to C.

(iii) C is on immediate left of D, who is

exactly opposite to E.
(iv) F is also sitting at the table.

The person sitting between B and A is

Mmc 2)D
()M 4E
The person sitting opposite to A is
() F 2)E
3)B “4C

The person is sitting left of A is
1B 2)E
3F 4C

The clockwise order of sitting the
persons from D is
(1) DCAEBF
(3) DBFECA

(2) DFBEAC
(4) DFEACB

The counter-clock wise order of sitting
the persons from E is

(1) ECADFB (2) EBFDBCA

(3) EACDFB (4) EDFCAB
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66.

67.

68.

69.

70.

.

suflapsom (aSlsorm.ereior. 66~71)

Spsargod eflammssEnseE sl
GummGgLomsor aflewL_uflemeor
GarBssliu Derer £ Lo
aflenseflsdlEg CoHTEESEE a0,

A upgid B ou&iGumt sGsrgmisst. C
wpped D &Gt sCargfast. A-ulsr
wastr D-uflsir Camgiyer steflsh C-&(g B-si
2] (P

(1) sz (2) sGamgsir
OF4 (@) &ggiur

M eretrusurt N-sir eGamgmi ; B stetrusurt
N- sGamgmt ; M erstruaut D-sir #Gargn
sreefleh Spasraimumasafis) 2 piFurargre
SjmLowih 2 mey e

() N srstrueurt B-uflsir sCamygi

(2 N srstrusurt D-ulletr sGamyET

(3) M erstruaurt B-uflsir &Gasnmgit

(4) D srstrusurt M-uflstr sCasmy g

A, B, C, D, E, F &Gt su’Laugeflsh
Blstr) Glasmsgomig (m&EnmTis6ir.

D wpgid C-sir @ew_Gw B 2 siremm.

E wmgd C-sir @lem G A 2_sirsmrm.

D-&(5 susvliudaid F a_sremm sreuflsd

A upgid F-&@ @ Cw 2 srereurt

(1)B 2)c @D 4 E

smme  wewfl 4.00-5@ @@ Swemr
wperafip@ith @G 2_srem Gamewonn

(1) 120° (2) 60°

(3)90° (4) 160°

8- GopESULFD 1 PessLTSES
Qsmer® 8, S, 2, 1, 7, 6 gdu
Possnsmme 2 GaTSSILGL, @
Blwss sramsaflsr sraimanflsms

H9 @10 311 @13

REOMD @I SHlé 1-ememr BSsUTSS
Qermm. 3  [@ess  erewrsefls
sTevoTemoflSen s

(1) 100 (2) 90

(3) 1600 (4) 999

388f 15—16
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66.

67.

68.

69.

70.

71.

-

Direction (Questions 66 -71)

Identify the most appropriate
alternative among the given four
alternatives.

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How is
B related to C ?

(1) Father (2) Brother
(3) Grand Father (4) Uncle

M is brother of N : B is brother of N ;
M is brother of D. Which of the
following is definitely true?

(1) N is brother of B
(2) N is brother of D
(3) M is the brother of B
(4) D is the brother of M

Six persons A, B, C, D, E, F are
standing in a circular form.

B is between D and C.

A is between E and C.

F is to be right of D.

The person between A and F is

(B @C @b @E

When the time is 4.00 AM the angle
between the hands of the clock is

(1) 120° (2) 60°

(3) 90° (4) 160°

The number of combinations of two
digit numbers having 8 as atleast one
of the digits, from the digits
3,52,1,7,68s

™Mo 2)10 3)11 413

The number of 3 digit numbers in
which the digit in the unit place is

always 1 is
(1) 100 (2) 90
(3) 1000 (4) 999
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1

uflpenm : (efser sz, 72-76)

A ungeh B S L o6 Bm_Cu gy Qsm_iy o sirerg. 26 Lomehfhuimenr @sm_iy C
20pss D56 B @ umanms) wnhgy eflo,_ser 0 @ @ @~ D-ulmens GaiCls@dmayi.

Direction : (Questions 72-176) :

There is a relationship between the figures (A) and (B). The same relationship exists
between the figure (C) and one of the options (1), (2), (3) and (4). Choose the Correct option,

AE][®] ;]
ElcalziiE
(D@

m I e
L il -]

AL ]
O[O]ATT]
9T ]
z[aa[F]

35*3/:15-!7

www. TrbTnpsc.com
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(76) = | g
52" 3 gt nds
| C 24 |

A B |
I;l l a l l r 4
!
A i 2
1 2 A 4

aufipsnp (aflsorm srsser, 77-80)
GarRaEsi L 3 uhisafldr Qs idurs D Spscurams D-fmer wrhgels ssr (1,
@ G (A-Doig CoHeEEES.

Direction : (Question 77 — 80) :
Select a figure from the answer figures (1), (2), (3) and (4) which would continue the series

in the place of D. ol
(77
s
A B C D
1 2 3 4
78
® @ | 8 || 9
A B € D
§ |=»| 8 | §
1 2 3 4
(79 A Al |O .
A O@® & c A D
@ O ] (@)
A A A X
1 7 3 4
(80)
F ol ol o b
A B & D
1 2 3 Z
wnnlvior 18
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aufipso (aflsrm srever. 8186 :
QsrR&EsiuQerer 4 L hisafis GurEEsLDD @@ L_Sdmear CHIE0sOEs.

Direction : (Questions 81 — 86) :
Choose the figure which is different from others.

o ‘ ) I é =
: 3

82)] \ ; ]
@ | A |[&] =]
L 1 2 : 7 ;

g EAESFLY

1 2 3 4
B4 SS AN | A

1 2 3 4
(o [ATMA

1 2 3 4
(86)

U E A S

1 2 3 4

3gg/ n5-19
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